addazy1

Question Paper Name :
Subject Name :
Creation Date :

National Testing Agency

addazay

09 Education 12th Nov 2020 Shift 1

09 Education

2020-11-12 17:30:29

Duration : 180
Number of Questions : 134
Total Marks : 300
Display Marks: Yes

09 Education
Group Number : 1
Group Id : 53622828
Group Maximum Duration : 0
Group Minimum Duration : 180
Show Attended Group? : No
Edit Attended Group? : No
Break time : 0
Group Marks : 300
Is this Group for Examiner? : No

PART L.General Paper

Section Id : 53622859
Section Number : 1
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 42
Number of Questions to be attempted : 42
Section Marks : 100
Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 536228173
Question Shuffling Allowed : Yes

Question Number : 1 Question Id : 5362284390 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0


Dhruv Vashisht
Stamp

Dhruv Vashisht
Stamp

Dhruv Vashisht
Stamp


The modality of 'teaching' has to be differentiated from 'training' or 'instructing' in terms of
which of the following learming outcomes?

Disciplined and patterned behaviour
Critical and creative thinking

Firm and durable association of 1deas
Quick feedback

ol b e

Options :

53622817101. 1
53622817102. 2
53622817103. 3
53622817104. 4

Question Number : 1 Question Id : 5362284390 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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Options :

53622817101. 1
53622817102. 2
53622817103. 3
53622817104. 4
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Question Number : 2 Question Id : 5362284391 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Which of the given learner characteristics are associated with field dependent
(holistic/visual) learning style?

1) Focusing on facts and principles

1) Relating concepts to personal experience

111) Formal interaction with teacher related to tasks at hand
1v) Preferring to compete rather than cooperate

v) Preferring to cooperate rather than compete

vi) Perceiving global aspects of concepts and materials

Choose the correct answer from the options given below:

1. 1), 11) and 111)

2. 1). 1) and v)

3. 1).v)andvi)

4. 1v), v) and vi1)
Options :

53622817105. 1
53622817106. 2
53622817107. 3
53622817108. 4

Question Number : 2 Question Id : 5362284391 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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1. (i) (1) 3T (i11)
2. (id). (iii) 3T (v)
3. (i), (v) 3T (i)
4. (iv). (v) AT (vi)
Options :
53622817105. 1
53622817106. 2

53622817107. 3
53622817108. 4

Question Number : 3 Question Id : 5362284392 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Which of the following potential factors affecting teaching are related to 1nstructional
facilities and learning environment?

1) Praise and encouragement by teachers

1) Non availabihity of textbooks/reading materials for use
11) Proactive moves in the interactive processes

1v) Shortage of highly qualified teachers

v) Availability of smart classes

Choose the correct answer from the following options:

1. 1).11) and 11)

2. 1).111) and v)

3. 1. 1v)yand v)

4. 1m1),1v) and v)
Options :

53622817109. 1
53622817110. 2
53622817111. 3
53622817112. 4

Question Number : 3 Question Id : 5362284392 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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1. (i), (ii) 3T (iii)

2. (ii), (i) 3T (v)
3. (i), (iv) 3T (V)
4, (iii), (iv) 3T (v)
Options :
53622817109. 1
53622817110. 2

53622817111. 3
53622817112. 4

Question Number : 4 Question Id : 5362284393 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

When the 'test data’ tell us about a student's level of proficiency in a defined area, the
procedure of evaluation 1s called

Formative evaluation
Summative evaluation
Norm-referenced testing
Criterion-referenced testing

L

Options :

53622817113. 1
53622817114. 2
53622817115.3
53622817116. 4

Question Number : 4 Question Id : 5362284393 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No



Correct Marks : 2 Wrong Marks : 0
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Options :

536228171131
53622817114. 2
53622817115.3
53622817116. 4

Question Number : 5 Question Id : 5362284394 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of the following 1s indicative of iInnovations in evaluation system at present?

Semesterization system

Project based evaluation system
Choice based credit system
Objective based evaluation system

s

Options :

53622817117. 1
53622817118.2
53622817119. 3
53622817120. 4

Question Number : 5 Question Id : 5362284394 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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Options :
53622817117. 1
53622817118.2
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53622817119. 3
53622817120. 4

Question Number : 6 Question Id : 5362284395 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Identify the qualitative research designs from the list given below:
1) Exploring common experiences of individuals to develop a theory
1) Controlling. manipulating. observing and measuring the effect
1u1) Exploring the shared culture of a group of people

1v) Exploring individual stories to describe the lives of people

v) Extending generalizations from sample to population

Select the correct answer from the following options:

1). 11) and 1v)
1). 11) and 11)
11). 11) and v)
4, 11). 1w)and v)

ol

Options :

53622817121. 1
53622817122.2
53622817123.3
53622817124. 4

Question Number : 6 Question Id : 5362284395 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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1. (i), (i) 3T (iv)

2. (i), (i) 3T (i)

3. (i), (i) 3T (v)

4. (i), (iv) 3T ()
Options :

53622817121. 1
53622817122.2
53622817123.3
53622817124. 4

Question Number : 7 Question Id : 5362284396 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of the following shows the correct sequence in undertaking Action Research based
studies?

Planning, Acting on the plan. Observing and Reflecting
Acting on the plan. Observing, Planning and Reflecting
Reflecting, Planning. Acting on the plan and Observing
Acting on the plan. Reflecting, Planning and Observing

Ll

Options :

53622817125. 1
53622817126. 2
53622817127.3
53622817128. 4

Question Number : 7 Question Id : 5362284396 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No



Correct Marks : 2 Wrong Marks : 0
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Options :

53622817125 1
53622817126. 2
53622817127.3
53622817128. 4

[ ]

Faa

Question Number : 8 Question Id : 5362284397 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Application of ICT in research 1s relevant in which of the following stages?
1) Survey of related studies

11) Data collection in the field

111) Data Analysis

1v) Writing the thesis

v) Indexing the references

Choose the most appropriate option from those given below:

11), 1v) and v)

1), 111) and v)

1), 1) and 1v)
i1). 111) and 1v)

B 00 b

Options :

53622817129. 1
53622817130. 2
53622817131.3
53622817132. 4

Question Number : 8 Question Id : 5362284397 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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1. (ii). (iv) T (v)

3. (1). (i) T (iv)
4. (). (iii) T (iv)
Options :
53622817129. 1
53622817130. 2

53622817131.3
53622817132. 4

Question Number : 9 Question Id : 5362284398 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Match List I with List IT

|List I |List IT

(Kev Terms used 1n e

Research) (Description of Terms)

|a] Hypothesis |i} Techniques used for collection of facts and information
|b} Sample |i_i) Devices for arrving at conclusions

11) A tentative statement indicating potential solution of the

c) Research Design problem of study

ld} Research Tool Iiv) A subset drawn from a defined set

| |v] Conceptual framework for conducting research

Select the correct answer from the options given below:

a)-1), b)-1n). ¢)-m). d)-1v)
a) - 11). b) - ili). ¢) - iv): d) - V)
El) - 1)! b) N ]_'l}, 'CJ - iv:l.: d} - ]_‘.1]
a) - 1).b) - 1), ¢) - v): d) - 1)

Rl -

Options :

53622817133. 1
53622817134.2
53622817135.3
53622817136. 4

Question Number : 9 Question Id : 5362284398 on Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks :
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1. (a)=(i). (b) - (i), () - (iid). (d) - (iv)
2. (a) -(it). (b) - (iii). () - (iv). (d) - (+)
3. (a) -(i), (b) - (i) (&) = (iv). (d) - (iii)
4. (a) -(iii). (b) <(@%). () = (v). (d) - (i)

Options :

53622817133. 1
53622817134.2
53622817135. 3
53622817136. 4

Question Number : 10 Question Id : 5362284399 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

A researcher reports his'her research finding to the research audience in such a way that
his’her personal views are necessarily getting supported. This would invelves issues
relating to

Technical aberration
Researchethics
Seientifie rigour
Personal predilection

e 00 13

Options :

536228171371
53622817138.2
53622817139.3
53622817140. 4

Question Number : 10 Question Id : 5362284399 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No



Correct Marks : 2 Wrong Marks : 0
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Options :

53622817137. 1
53622817138. 2
53622817139. 3
53622817140. 4
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Question Number : 11 Question Id : 5362284400 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Given below are two statements. one is labelled Assertion (A) and the other 1s labelled
Reason (R)

Assertion (A): Depending upon the classroom situation. seme media of communication are
more effective than others.

Reason (R): Selection of a medium is directly related tothe nature of the message for
students

In the light of the above. choose the correct answer from the options given below:

Both A) and R) are true and R) is the correct explanation of A)
Both A) and R) are true but R) 1= not the correct explanation of A)
A) 1s true but R) 1s false

A) 1 falze, but R) 1s true

Ll .

Options :

53622817141. 1
53622817142.2
53622817143.3
53622817144. 4

Question Number : 11 Question Id : 5362284400 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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Options :

53622817141. 1
53622817142. 2
53622817143.3
53622817144. 4

Question Number : 12 Question Id : 5362284401 Question Fype : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Communieation skills of students can be 1mproved by

a) Asking general questions

b) Exposure to new technology

¢) Fostering critical thinking

d) Discriminant use of vocabulary

e) Limited listening

Choose the most appropriate answer from the options given below:
a). b) and c)

b). ¢) and d)

c), d) and e)
a). d) and e)

0 D

Options :
53622817145. 1
53622817146. 2



53622817147.3
53622817148. 4

Question Number : 12 Question Id : 5362284401 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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1. (a). (b) 31T (e
2. (b). (c) HIT (d)
3. (c). (d)y 3T (e
4. (a). (d) AT (e)

Options :

53622817145. 1
53622817146. 2
53622817147. 3
53622817148. 4

Question Number : 13 Question Id : 5362284402 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Structured classroom communication can be categorized as

1. Inter-personal communication
2. Vertical communication

3. Group communication

4. Cross-purpose communication

Options :

53622817149. 1
53622817150. 2
53622817151. 3



53622817152. 4

Question Number : 13 Question Id : 5362284402 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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4. gOraa U =R
Options :
53622817149. 1
53622817150. 2

53622817151.3
53622817152. 4
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Question Number : 14 Question Id : 5362284403 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

For effective communication inside a classroom. a teacher should embark upon

Ideoclogical leanings
Innuendos

Issuing attention commands
Listener analysis

Mol PRl

Options :

53622817153. 1
53622817154. 2
53622817155.3
53622817156. 4

Question Number : 14 Question Id : 5362284403 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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53622817153. 1
53622817154.2
53622817155.3
53622817156. 4

Question Number : 15 Question Id : 5362284404 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

The concept of entropy as used In communication 1s related to

Virtual reality
Marketplace

Order

Communicative language

e o

Options :

53622817157. 1
53622817158. 2
53622817159. 3
53622817160. 4

Question Number : 15 Question Id : 5362284404 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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Options :

53622817157 1
53622817158. 2
53622817159. 3
53622817160. 4
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Question Number : 16 Question Id : 5362284405 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



The next number in the given series is
196. 384, 736.

1. 1344
2. 1244
3. 1434
4. 1544

Options :

53622817161. 1
53622817162.2
53622817163. 3
53622817164. 4

Question Number : 16 Question Id : 5362284405 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

T 71T 7 F 3e0AT gEAr FIT FET 7196, 384, 736,

1544
1244
1434
1544
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Options :

53622817161. 1
53622817162.2
53622817163. 3
53622817164. 4

Question Number : 17 Question Id : 5362284406 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Find the missing letters in the seres:
BCA, YZX, EFD. HIG

UVW
VWU
WvuU
VUW

et

Options :

53622817165. 1
53622817166. 2
53622817167. 3
53622817168. 4



Question Number : 17 Question Id : 5362284406 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

e s o°d A& FAT § : BCA. YZX. EFD. .HIG

UVW
VWU
WVU
VUW

b —

e

Options :

53622817165. 1
53622817166. 2
53622817167.3
53622817168. 4

Question Number : 18 Question Id : 5362284407 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Vinod's mother-in-law 1s the mother of Amit's mother-in-law. How 1s Vinod related to Amit?

Vinod 1s brother of Amit
Vinod 1s father of Amit

Vinod 1s uncle of Amit

4. Vinod is father-in-law of Amit

G0 b

Options :

53622817169. 1
53622817170. 2
53622817171.3
53622817172. 4

Question Number : 18 Question Id : 5362284407 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

e fiagmysEafFroanfiag TEcxFEa g Fe geafa & 7

| e s Fras &
e e s REr E
A FEE AT
4, e sT T EgT &

Options :

53622817169. 1
53622817170. 2
53622817171.3
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53622817172. 4

Question Number : 19 Question Id : 5362284408 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

In a certain code, FISH 1s written as EHRG. The code for JUNGLE will be

ITNFED
KVOHMF
ITMFED
TIMFED

Ll

e

Options :

53622817173. 1
53622817174. 2
53622817175.3
53622817176. 4

Question Number : 19 Question Id : 5362284408 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

U fAf9ed Fe # FISH S EHRG for@r S4r &1 TUNGLE % oI e =21 ghr 2

ITNFED
KVOHMF
ITMFKD
TIMFED
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Options :

53622817173. 1
53622817174.2
53622817175.3
53622817176. 4

Question Number : 20 Question Id : 5362284409 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

63% of emplovees In a company are female. If the number of male emplovees 1s 111. then
the total number of employees 1s

270
280
300
310

oo il

Options :
53622817177. 1
53622817178. 2



53622817179.3
53622817180. 4

Question Number : 20 Question Id : 5362284409 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

fordlr Fuelr 7 63% FHRIT Afgarw €1 3T T sl f w2 1118
FHEATEN FT FoT gEAT FFae € 0

1. 270
2. 290
3. 300
4, 310
Options :

53622817177. 1
53622817178. 2
53622817179. 3
53622817180. 4

Question Number : 21 Question Id : 5362284410 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

"Everyvone believes that there 1s a soul. Therefore, vou should also believe it." This inference
commits which kind of fallacy?

Ad hominem

Ad populum

Fallacy of Accident
Fallacy of Ambiguity

RR Dl

Options :

53622817181. 1
53622817182.2
53622817183.3
53622817184. 4

Question Number : 21 Question Id : 5362284410 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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Options :

53622817181. 1
53622817182. 2
53622817183.3
53622817184. 4
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Question Number : 22 Question Id : 5362284411 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

"(God 1s great because He does great things". This inference commits which kind of fallacy?

Ad populum

Fallacy of Composition
Fallacy of Division
Petitio Principn

e BRI =

Options :

53622817185. 1
53622817186. 2
53622817187.3
53622817188. 4

Question Number : 22 Question Id : 5362284411 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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1. U5 9rqaIH
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Options :
53622817185. 1
53622817186. 2

53622817187. 3
53622817188. 4
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Question Number : 23 Question Id : 5362284412 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Amil's participation in classroom 1s indifferent. His parents do not find him to be active
either.But his performance in examinations. ranges from being good to outstanding.
Therefore, he must be studying privately. in a clandestine way. This 1s an example of which
kind of Pramana?

Upamana (Comparison)
Anumsna (Inference)
Anupalabdhi (Non-apprehension)
Arthapatti (Implication)

Ll

Options :

53622817189. 1
53622817190. 2
53622817191. 3
53622817192. 4

Question Number : 23 Question Id : 5362284412 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

FeTThe] H HiAol P HEATNAT 3THIA &1 5H+ Hel-i4al 3l 38 Hishd el AAd 2|
TIq TS & 3HH TG 0T § A 3cpC,A% &) 37 I8 96 ¥ THd & T
9qeaT R I8 R 9T F 9H0T T SEERuE )

§

Fag
%

4. Ul

Options :

53622817189. 1
53622817190. 2
53622817191. 3
53622817192. 4

Question Number : 24 Question Id : 5362284413 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



The distinction between purvavat and sesavat 1s made with reference to which of the
following pramanas?

Anumana (Inference)
Pratvaksa (Perception)
Comparizon (Upamana)

Abhava (Absence)

PR e N

Options :

53622817193. 1
53622817194. 2
53622817195. 3
53622817196. 4

Question Number : 24 Question Id : 5362284413 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

featafad & & fFg 9707 ¥ Feat § iaq #X AvEs F 3 fRar a0

1. HeIHATA
2. Hedd

3
4. HAEF

Options :

53622817193. 1
53622817194. 2
53622817195.3
53622817196. 4

Question Number : 25 Question Id : 5362284414 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which sentence cannot fit into the AEIO framework?

o salt has 1odine

The salt on the table has 1odine
All salt has 1odine

Some salt has 1odine

e b

Options :

53622817197. 1
53622817198. 2
53622817199. 3
53622817200. 4

Question Number : 25 Question Id : 5362284414 Question Type : MCQ Option Shuffling : No Is Question



Mandatory : No
Correct Marks : 2 Wrong Marks : 0

FIT-HT 99T T § 302 3T A H 39G%d A2 & Tl &

ordlT 9 & HOIEA A7 2T §
AT W T T7F # JANST &
Tft FFF F FOfEA &

FC dAHF H AT 8

N

Options :

53622817197. 1
53622817198. 2
53622817199. 3
53622817200. 4

Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :

2
536228174
Yes

Question Id : 5362284415 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No

Question Numbers : (26 to 30)
Question Label : Comprehension

Data 1n respect of Demand and Production of Com five companies. A - E are shown
in the figure. Based on the data. answer qa d

Computers: Demand & Production
1350

1250

Name of Companies

1650

é.

No. of Computers
[

g

=

m Number of Computers Demand ® Number of Computers Production



Sub questions

Question Number : 26 Question Id : 5362284416 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

The ratio of the number of companies having more production than demand to that of
companies having more demand than production 1s

3:2
1:4
4:1
2:3

el il e

Options :

53622817201. 1
53622817202. 2
53622817203. 3
53622817204. 4

Question Number : 27 Question Id : 5362284417 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which company has minimum demand to production ratin?

L0 DD
HEOOWE

4,
Options :
53622817205. 1
53622817206. 2
53622817207. 3
53622817208. 4

Question Number : 28 Question Id : 5362284418 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

The difference between average demand and average production of computers of all
companies combined together iz

950
190
180
850

kel o

Options :

53622817209. 1
53622817210. 2
53622817211.3



53622817212. 4

Question Number : 29 Question Id : 5362284419 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

The demand for computers 1s less than the production of computers in how many
companies?

Lo =
b = L0

Ll

Options :

53622817213. 1
53622817214.2
53622817215.3
53622817216. 4

Question Number : 30 Question Id : 5362284420 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

The demand of computers of Company D 1= more than that of the demand of the computers
of Company B by

1.5 times
2 times
2.b times
3 times

el L

Options :

53622817217. 1
53622817218.2
53622817219. 3
53622817220. 4

Question Id : 5362284415 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No

Question Numbers : (26 to 30)
Question Label : Comprehension



AT -

A - E Ot Fuferal F Feogedt #1 Al A Sc0ea Haiad 33 A g w3 E) e
HTFET F HTUR 97 26 - 30 BT 717 9ot & 3ea7 &0

ffl-‘-'”%ﬂ : IHTI 3[7? Jdlg-

2500
2000
2000
1650
E 1500 1250 1350
% 1000 o 11N
1000
i 600
500 300 l
0 ) B
A B c D £

Hufl 5 a3
BB DI AT W BN DI 4 - IAIGA

Question Number : 26 Question Id : 5362284416 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

AT HT JoIam F 377UF 3e9EA el FAAAT T HEAT 3T 3c9EA F HOF AT
ITAT FITAAT FEAT FT 79T ¢

1. 32
2. 14
3. 41
4. 23

Options :

53622817201. 1
53622817202. 2
53622817203. 3
53622817204. 4

Question Number : 27 Question Id : 5362284417 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No



Correct Marks : 2 Wrong Marks : 0

fFe F9er #r Al 3T Ie9EA F HFIF ZAqH € 2

o
1 o ™

Options :

53622817205. 1
53622817206. 2
53622817207.3
53622817208. 4

Question Number : 28 Question Id : 5362284418 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

U T Tl FOfAAr F wogedl H Awag \A6 #7 A9q 3c9ea 71 FA|W E

950
190
180
850

B

Options :

53622817209. 1
53622817210. 2
53622817211. 3
53622817212. 4

Question Number : 29 Question Id : 5362284419 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

FTIEAT T HFT 3% 30916 F AIET Fhaer Fedr H F7 g 2

bd

L]
I_.'I—-r_.u.l;x

o

Options :

53622817213. 1
53622817214.2
53622817215.3
53622817216. 4

Question Number : 30 Question Id : 5362284420 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No



Correct Marks : 2 Wrong Marks : 0

FIAT DF FEIA P AT FIAT B F FSU FT AT HI Jolal § HOF ¢ ¢

1. 1L53ET

. 29T
3. 257

4. 39T
-

| ]

Options :

53622817217. 1
53622817218.2
53622817219.3
53622817220. 4

Sub-Section Number : 3
Sub-Section Id : 536228175
Question Shuffling Allowed : Yes

Question Number : 31 Question Id : 5362284421 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

The term Plotter 1s best deseribed as:

An input device to produce good guality graphics

An output device to produce drawings and graphies

A fast storage device for storing good quality graphics

A multipurpose device for taking inputs as well as olatputs

e paha b

Options :

53622817221. 1
53622817222.2
53622817223. 3
53622817224. 4

Question Number : 31 Question Id : 5362284421 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
el ATHTFS H FaF e Sw aE g g & 0

1. 30T UTEedl +F TTHFH Jad I il $A9e ZagH

. 3E AT FMMBFH T F{ arell H13eIE 398

3. H=O! qUTEcdT drel TMHE F HIg0 & AU 3= gagor Basy
4. AYE F WY -G HEFIYE oA F U agsedy Raww

Options :
53622817221. 1

[ E]




53622817222.2
53622817223. 3
53622817224. 4

Question Number : 32 Question Id : 5362284422 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of the following 1s correct with respect to the size of the storage umts?

Terabyvte <= Petabyte = Exabyte = Zettabyte
Petabyte < Exabyvte = Zettabyte = Terabyte
Exabyte = Zettabyte = Terabyte <= Petabyte
Zettabyte = Exabyte = Petabyte = Terabyte

L SR L

Options :

53622817225 1
53622817226. 2
53622817227. 3
53622817228. 4

Question Number : 32 Question Id : 5362284422 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

HENUT SHEAT F HFN & Hey ¥ afef@a A o ST wr & 0

1. STEIEE < Hedise < TSAESe <AsidIise
. UTETEE < TFHEIEE <HEMEI5C < Chdlse
3. TFHMEES <AZEEC <S{EEe < Y2EEe
4. FZTEEC < TFHEEC < USEHISE <cAdSe

| B

Options :

53622817225. 1
53622817226. 2
53622817227.3
53622817228. 4

Question Number : 33 Question Id : 5362284423 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

E-commerce involves buyving and selling of:

International goods

Electronic goods

Products related to computers

4. Products and services over the Internet

L e R

Options :
53622817229. 1



53622817230. 2
53622817231.3
53622817232. 4

Question Number : 33 Question Id : 5362284423 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

SFHY 7 Aeatarag # e 9 3t Teg s £ 0

=

Hea S TEQU
) E Uﬁ A
. FFCET ¥ HENT 37

. SIdE 9 3c9I¢ U9 §EU

| ]

L]
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Options :

53622817229. 1
53622817230. 2
53622817231. 3
53622817232. 4

Question Number : 34 Question Id : 5362284424 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Given below are two statements, one labelled 48 Assértion (A) and the other as Reason (R):

Assertion (A): An Intranet is a private network for sharing computing resources and
information within an organization

Reason (R): Intranet is private version of the Internet

In the light of the above two statements. choose the correct answer from the options given
below

Both A) and R) are true and R) 1s the correct explanation of A)
Both A) and R) are true but R) 1s not the correct explanation of A)
A) 1= true, but R) 1= false

A) 1s false, but R) 1s true

e i D e

Options :

53622817233. 1
53622817234.2
53622817235. 3
53622817236. 4

Question Number : 34 Question Id : 5362284424 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



HiFFUT (A) HT FF (R)FHF & a7 A= T o ¥

FAFFYF (A) : ST FE T F iy INEFas TEYE HT I A S
F for o= st JTa+

% (R) : 3TC STAT FT =T FERIOT £

IUUFT FAAT F HTolF H TR FEeT Ay

1. (A)TYAT (R) ST Tar & AT (R) (A) F7 TEr =areE g

(A) T4T (R) AT HWET & U= (R) (A) T HeT =TT Fel ¢
3. (A) HET & Al (R) 7T T

4. (A)IeIT & ST (R) WY 21

| ]

Options :

53622817233. 1
53622817234.2
53622817235.3
53622817236. 4

Question Number : 35 Question Id : 5362284425 Question. Type.: MCQ.Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of the following devices allows a user to copy an external document and save 1t 1n
electronic form onto a computer?

Spammer
Scanner
Printer

4, Plotter

el el

Options :

53622817237. 1
53622817238. 2
53622817239. 3
53622817240. 4

Question Number : 35 Question Id : 5362284425 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



FofET & § F19 T 30T TAFATHT FT ZFATaS F HUT FA TF §H FFoged
H FoEeliets &9 H FIiaa Fa 7 AT dar ¢ 2

Options :

53622817237. 1
53622817238. 2
53622817239. 3
53622817240. 4

Question Number : 36 Question Id : 5362284426 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

From the following list, identify the sources of solid waste:

1) Residential areas
11) Oceans

111) Institutional areas
) Agriculture

v Dust storms

Select the correct answer from the options given below:

1. 1), 11) and m1)

2. 1), 1m) and 1v)
3. 11).1v)and v)
4. 1).111) and 1v)

Options :

53622817241. 1
53622817242. 2
53622817243. 3
53622817244. 4

Question Number : 36 Question Id : 5362284426 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



TeafofEs g & & 39 Hulrse & @Er 1 99 Hw
(i) FTETET 8T
(11) HITHTTY
(iii) HTETTAS &7
(iv) F
(v) g& &1 3mef
A U ov Sedl ¥ G2 3087 F1 9949 HST
1. (i), (i) 3T (iii)

2. (i), (iii) HT (iv)
3. (). (v JAT (v
4. (i), (iii) HT (iv)

Options :

53622817241. 1
53622817242. 2
53622817243. 3
53622817244. 4

Question Number : 37 Question Id : 5362284427 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Identify the sources of soil pollution from the following hist:

1) Industrial effluents

11) Eutrophication

111) Unscientific disposal of nuclear waste
Iv) Off-shore o1l drmlling

V) Improper management of septic systems

Choose the correct answer from the options given below:
1). 11} and 111)

11). 111) and 1v)

1). 111) and v)

4, 1), 1v) and v)

o e

Options :

536228172451
53622817246. 2
53622817247. 3
53622817248. 4



Question Number : 37 Question Id : 5362284427 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
feafof@a = & & Fqar 99T F F@ar 1 9g=a fifew
(i) AT+ FfE AT
(ii) FEITerar
(i1i) ATTEDIT HUTIST FT FaAAF FEa0T
(iv) 39T ad e (o)

(v) T gonfeat @1 3T ge9ud
FeofEa & ¥ g TFeT F1 739 fifav .

1. (i), (i) AT (i)
2. (i), (i) T (V)
3. (1), (ii1) 3T (v)

4. (i1). (iv) HT (v)

Options :

53622817245. 1
53622817246. 2
53622817247.3
53622817248. 4

Question Number : 38 Question Id : 5362284428 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of the following statements represents mangrove characteristics as a safety hedge?

The mangrove trees are tall with dense canopies

The mangrove trees provide both food and medicines

The mangrove swamps separate the human settlement from the sea

The mangrove trees protect vulnerable coasthines as they hold =o1l together

00 19

Options :

53622817249. 1
53622817250. 2
53622817251. 3
53622817252. 4

Question Number : 38 Question Id : 5362284428 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No



Correct Marks : 2 Wrong Marks : 0

fF=ofEd # ¥ F9-91 Fu9 F=o-a8qia f FIvant H grem e F T A
gafaea s@r & 2

1. F=o-FALIS I & 59 AR TAaK & 2]

FEC-TATAS dTel 387 § WEF- IEqU AT Za0 9 v 2

FO-FATIAINT Gagd ATarg Rl F1 THF & 7T I 21

4. FTO-FALIS AT J&T TS JELEIHT T GIET F9 § FaiF T FJE F7 FE
@y gl

| ]
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Options :

53622817249. 1
53622817250. 2
53622817251. 3
53622817252. 4

Question Number : 39 Question Id : 5362284429 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of the following statements about the Volatile Orgame Compounds(VOCs) are
correct?

1) They cause acid rain

11) They may cause cancer

11) They play an important role in the formation of photochemical smog
Select the correct answer from the options given below:

1) and 11)

11) and 11)

1) and 111)
1). 11). and 1)

00 DD

Options :

53622817253. 1
53622817254.2
53622817255.3
53622817256. 4

Question Number : 39 Question Id : 5362284429 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Fregfie =9 T (37 3T O F a0 § FeEe@d § ¥ Si9-0 39 g8 8
(i) SThT T ¥ HFAT IO AT g

(ii) ST T ¥ FET &1 TFaT 8l

(i) T TRRTEEF qHF-Fe0 (FA) F &R0 & Agaqur JfFF [T
fFrafolg § ¥ §aius 3999 F%ew &1 794 Fif=v

1. (1) T (i)
(i1) AT (ii1)

3. (i) HT (i)

4. (1). (1) AT (ind)
Options :
53622817253. 1
53622817254. 2

53622817255.3
53622817256. 4

| B ]

Question Number : 40 Question Id : 5362284430 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of the following was the central aim of the Paris Agreement?

1. To reduce the CFCs emissions

2. To strengthen the global response to the threat of climate change
3. To address biological diversity 1ssues

4. To address the problem of ozone layer depletion

Options :

53622817257. 1
53622817258.2
53622817259. 3
53622817260. 4

Question Number : 40 Question Id : 5362284430 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



fAeleai@d # ¥ Fia-01 470 gASar F1 €7 3897 § 7

. @ U W 3cHAT F FH FE

2. Searg IREas % @ & 9fa dEF gEd B Aag F
3. S RfEAuar  J=1 W o= &

4. ST T F eor i gHEEAT FT FHew F=r

Options :

53622817257. 1
53622817258. 2
53622817259. 3
53622817260. 4

Question Number : 41 Question Id : 5362284431 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

The ancient Indian University famous for specialized study in 'Hinayana' was

Nadia Umiversity
Nalanda University
Vadlabhi University
Vikramsild University

e IR

Options :

53622817261. 1
53622817262. 2
53622817263.3
53622817264. 4

Question Number : 41 Question Id : 5362284431 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

AT % afdse srvaaa F v 9@ ani| ad et or .

1. arear FHeafeeaew
CICCREECIERR e

. Feadr FeafEeaeT
4. TaFaEEr FafaaEy

| ]

L= ¥]

Options :

53622817261. 1
53622817262. 2
53622817263. 3
53622817264. 4



Question Number : 42 Question Id : 5362284432 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Identify the non-conventional learning programmes:

1) Gerontology

1) Psychology

11) Ethical hacking

1v) Anthropology

v) Pet Groomers

Choose the correct answer from the options given below:
1). 11) and 111)

1), 1m1) and 1v)

11), 1v) and v)
1), 11) and v)

ol e

Options :

53622817265. 1
53622817266. 2
53622817267. 3
53622817268. 4

Question Number : 42 Question Id : 5362284432 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



N RFEREE F#oE FEFAr H ggaa fEw
(1) g8 I=ar o=

(ii) FATTAH

(iii) AT FTHT

(iv) FTATATET

(v) TTeTd, TLHT T FEATe

A T aT BeT 7 ¥ 9 3ew 99T

1. (i). (i) 3T (1id)
2. (ii). (iti) AT (iv)
3. (). (iv) HIT (v)
4. (i), (i) T (v)

Options :

53622817265. 1
53622817266. 2
53622817267. 3
53622817268. 4

Question Number : 43 Question Id : 5362284433 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Identify Key result areas of the Skill Acquisition and Knowledge Awareness for Livelihood
Promotion (SANKALP) project:

1) Institutional strengthening

11) Promotion of handieraft and carpet sector skills

11) Quality Assurance

1v) Inclusion

v} Overseas Employment through an agency

vi) Expanding skills through Public Private Partnership (PPPs)
Choose the correct answer from the options given below:

1), 11). 11) and 1v)

1), 1), 1v) and v)

11). 1v). v) and v1)
4. 1), 1m), 1v) and vi)

e i e

Options :

53622817269. 1
53622817270. 2
53622817271.3
53622817272. 4

Question Number : 43 Question Id : 5362284433 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Frer - HEERE (TFa tTasiee) 9uT 319 - {8AaT (Ao J99EH) il
ATSIeIgs A (Fhed) TRATSAT HT IO - 831 H1 9g=a HAT

(i) HTEATfTs e
(ii) BT HT FTola HeTH T Flera Tae

(111) I[OTeAT HATRETHA
(iv) FHET
(v) T vdr F Aremw ¥ S F Fusd
(vi) BTN I - TIFAT FrEEry () F Jrewsw ¥ Fhre F:71 99R
A feT 1T BFeT # ¥ 39 A0 ¢
1. (1). (i1). (i) HT (iv)
2. (1). (iid). (iv) 3T (v)
3. (id). (iv). (+) 3T (5)
4. (i). (iii). (iv) FR (vi)
Options :
53622817269. 1
53622817270. 2

53622817271. 3
53622817272. 4

Question Number : 44 Question Id : 5362284434 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Identify reform related areas of governance listed by the NITI Aavog in the Three Year
Action Agenda (2017-18 to 2019 - 20) exclusively:

1) Environmental

1) Civil Services

111} Electoral

1v) Corruption related

v) Information and Communication Technology

Choose the correct answer from the options given below:
1), 1) and 111)

11), 1) and 1v)

111). 1v) and v)
1). 1v) and v)

i R

Options :

53622817273. 1
53622817274. 2
53622817275.3
53622817276. 4

Question Number : 44 Question Id : 5362284434 Question. Type.: MCQ.Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
=g ¥9 ¥ fradfa # aear (2017- 189 2019 - 20) F Aif Fm@eT g@anr g
MTA &+ TFas &%?fﬂ'@'ﬂ'gmﬁmﬁv:
(1) TATETONT
(1) FafEe g@ar
(iii) faT= gy
(iv) AR ¥ Hafag
(v) §=T 3T H= SieanEEhr
A GT 71T Beew 7 § w5 3 g0

1. (i). (if) 3T (iii)
2. (i), (iii) AT (iv)
3. (i), (iv) HT (v)
4. (1), (iv) HIT (v)

Options :
53622817273. 1



53622817274. 2
53622817275. 3
53622817276. 4

Question Number : 45 Question Id : 5362284435 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

In the context of value education, which of the following stages will be considered a
relatively advanced stage?

Value collection through imitation

Value assessment through inner evaluation
Value clarfication through exposure

Value consolidation through integration

s R e

Options :

53622817277. 1
53622817278. 2
53622817279. 3
53622817280. 4

Question Number : 45 Question Id : 5362284435 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
7o e % g & Aeaieiad ® § RE A B AULTHd eedd 90T Al
AT 7

1. HIFIOT F ATCAH § Hog Hholdd

HEIANF Hediha & ATCAT § FFT & [TURoT
3. SIHRAT F ACTH H HeT FT FIRL0T

4. THEIUT F ANTH ¥ 75T THeA

Options :

53622817277. 1
53622817278. 2
53622817279. 3
53622817280. 4

| ]

Sub-Section Number : 4
Sub-Section Id : 536228176
Question Shuffling Allowed : Yes

Question Id : 5362284436 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No

Question Numbers : (46 to 50)
Question Label : Comprehension



Read the following passage carefully and answer the questions that follow.

Two paradoxes inform and problematize every discursive and practical emplovment of
"human rights". The first 1s substantive and directly political; it concerns the relation
between "the human" and "the political". and belongs to the domain of political ethics 1n
general. The other i1s more nearly epistemological and moral: it addresses the 1ssue of how
one understands and practices the relationship between 1dea and actuality, or moral
unmiversality and cultural relativity. Each stems from the fact that human rights would
cobble together two kinds of concepts and practical relations that are not innately friendly
and treats them as one. ignoring the inherent absence of complementarity in their
relationship. Thus, the discourse of human rights synthesizes and oeccludes paradoxical
features of the origins, history and character of human rights as an idea and a practice,
making it far from self-evident as a conceptual "thing" or guide to moral and political
practice. Paradox has always marked the invocation of human rghts. Since their discursive
inception, the inmitial paradoxes have not been solved so much as layered by new iterations
of them - namely. that initiated in the UDHR (Universal Declaration of Human Rights).
which identifies governments as the promssories for enforcement of human rights. Joining
the paradoxes 1s an overarching feature that articulates human rights as a trans-political
phenomenon besides being a political phenomenon designed to uplhft all human societies.

Sub questions

Question Number : 46 Question Id : 5362284437 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

The first important area of human rights paradox 1= concerned with

1. Problematization
2. Discursive employment
3. Human practice
4. Poltical ethics
Options :

53622817281. 1
53622817282. 2
53622817283. 3
53622817284. 4

Question Number : 47 Question Id : 5362284438 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

The epistemological paradox of human rights refers to the understanding of

1. Human aspects of rights
2. Moral degradation
3. Cultural dimension of human rights
4. Political relations
Options :

53622817285. 1
53622817286. 2



53622817287. 3
53622817288. 4

Question Number : 48 Question Id : 5362284439 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

What 1s 1gnored 1n comprehending two paradoxes of human rights?

Innate friendliness of paradoxes
Absence of complimentarity
Relationship between 1dea and actuality
Morality 1ssues

e R B

Options :

53622817289. 1
53622817290. 2
53622817291. 3
53622817292. 4

Question Number : 49 Question Id : 5362284440 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

What 1s missing 1n the discourse of human rmghis?

Self evidence as a concept
Paradoxical features

Exclusion of human rights features
Svynthesis of concept and practice

P G B =

Options :

53622817293. 1
53622817294. 2
53622817295. 3
53622817296. 4

Question Number : 50 Question Id : 5362284441 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

What 1s added to the existing paradoxes of human rights?

Iteration of UDHR

Universality of human rights
Invocation of human rights

Political phenomenon across borders

ol

Options :

53622817297. 1
53622817298. 2
53622817299. 3
53622817300. 4



Question Id : 5362284436 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No

Question Numbers : (46 to 50)
Question Label : Comprehension
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Sub questions

Question Number : 46 Question Id : 5362284437 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

AAATUSR HAEUT FT TIF7 Fgccaqur 87 Feaas 7 § Foy m&@ g ¢

HH LA ddlal

THHH T

R IGERSERIE

B | S

TTaTas HT=EH



Options :

53622817281. 1
53622817282. 2
53622817283.3
53622817284. 4

Question Number : 47 Question Id : 5362284438 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

AAITUFRT % AFHEEF ARy Frates 7 3 Foh gmag ¥ 59T §

1. TR T ATFST 987

. Afa+ a4

. FAFSNUSRT HT FEFa® GAT
4. UATaF TIH

Options :

53622817285. 1

53622817286. 2

53622817287. 3
53622817288. 4

| ]

Faa

Question Number : 48 Question Id : 5362284439 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

AFIIMSFRT & 27 A9y #T §A Ffeatiaga 8 gfrasr 39a7 fr I &

[

. HafEar fr s=aeim &
qIF decal N HAE

. oA siir gurd F Ao m@Ey
4. AfTFaT F T2

Options :

53622817289. 1
53622817290. 2
53622817291. 3
53622817292. 4

| ]

Eaa

Question Number : 49 Question Id : 5362284440 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



AR ot TR F TR A g e v v 0

1. Fa.@E Fr FFanon

. fafeRmdT Ior

. HATASITUFIT 987 FT Figshaor
4. FHIURUT 3N EIEN FT HIATOT
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Options :

53622817293. 1
53622817294. 2
53622817295. 3
53622817296. 4

Question Number : 50 Question Id : 5362284441 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

AR ¥ AT geaq e 3afEny ¥ B Geafeas 7 ¢ s ggaor £ 2

(-

TITLAR. (AR Hr grastfas awom f wEfea
. ATETOERRT # gEaiEwar
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Options :

53622817297. 1
53622817298. 2
53622817299. 3
53622817300. 4

PART II Education
Section Id : 53622860
Section Number : 2
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 92
Number of Questions to be attempted : 92
Section Marks : 200
Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 536228177
Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 5362284442 Question Type : MCQ Option Shuffling : No Is Question



Mandatory : No
Correct Marks : 2 Wrong Marks : 0

In the, ‘Developmental stages of Reading” when the child becomes aware of the ways in whick
letters are combined leading to distinct sounds, 1s referred to as

(1) Symbolic stage

(2) Orthographic stage

(3 Blending stage

(4) Pictorial stage

Options :

53622817301. 1

53622817302. 2

53622817303. 3
53622817304. 4

Question Number : 51 Question Id : 5362284442 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
"uze 1 T SR H, S AT F A5 ST 8 -l gen ) sl o @ w2 e,
34 FE AT 2
()  weTrTeds sae)
(2)  SATARMTE® s
(3)  Tasm (Blending) 3a%4]
(49  Fems sy
Options :
53622817301. 1
53622817302. 2

53622817303. 3
53622817304. 4

Question Number : 52 Question Id : 5362284443 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Which of the following mentioned inclusive education as. “to integrate the handicapped with
general community at all levels as equal partners. to prepare them for normal erowth and to
enable them to face life with courage and confidence™?
(1) World Declaration on Education for All (1990)
(2) Rehahbilitation Council of India Act (199%)
(3) National Poliey of Education (1986)

(4) Scheme of Integrated Education for Disabled children (1974)



Options :

53622817305. 1
53622817306. 2
53622817307. 3
53622817308. 4

Question Number : 52 Question Id : 5362284443 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
fFreaferfaa O | - it 0 waEslt e =1 28 gn 3oomg 2, s i gl S W g | S o my
HAH WRTET % =9 H A/HE 1, e @1 die o Ten dan s i e s steafavaT & |y sfian #
AT T 4 /ey F9H 7

(1) &9 % oo e Haief fvass =oraon (1990)

(20 awdg gEER aiee sfafEg (1992)

(3) I Wi il (1986)

(4) Mo sl & fore wafed e 9 (1974)

Options :

53622817305. 1
53622817306. 2
53622817307. 3
53622817308. 4

Question Number : 53 Question Id : 5362284444 Question:Type ::xMCQ.Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Sarva Shiksha Abhiyan (SSA) adopted which of the following?

(1) Zero Resource Room Policy

(2) Zero Rejection Policy

(3) Zero Acceptance Policy

(4) Zero Home-based Education Policy

Options :

53622817309. 1
53622817310. 2
53622817311.3
53622817312. 4

Question Number : 53 Question Id : 5362284444 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



ud e st (v 3 afefaa 9w soarm 27
(1)  FaeE e §ifa a g
@  Trwaa i aEm
(3) ¥ Hifd A 2
(4)  Te-zmaried e ifa 3 20
Options :
53622817309. 1
53622817310. 2

53622817311.3
53622817312. 4

Question Number : 54 Question Id : 5362284445 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

In. United Nations Convention as the Right of Persons with Disability (UNCRPD) Report the
right to Education has been discussed in which Article?

(1) 40 (2) 20
(3) 42 (4) 24
Options :

53622817313. 1
53622817314.2
53622817315.3
53622817316. 4

Question Number : 54 Question Id : 5362284445 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

fearnrsl & siferpr daefl wgad we sifvau (g uq i spod ) IE O, #19-8 = d e o sfoen
B 3

(1) 40 (2) 20
(3) 42 (4) 24
Options :

53622817313. 1
53622817314. 2
53622817315.3
53622817316. 4

Question Number : 55 Question Id : 5362284446 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



For-education of CWSN (Chaldren With Special Needs), the concept of Inclusive Education as
laid down in SSA was based upon

(1) Integration Model (2) Medical Model
(3) Multi-Option Model (4) International Model
Options :

53622817317. 1
53622817318.2
53622817319. 3
53622817320. 4

Question Number : 55 Question Id : 5362284446 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

H] geerg vd ve (fasm stavasa g 9=4) ) fen % oo, ve vy v d g Faifa g foen 6 saamon
o e s 27

(1)  mafra ufaos @) fafred wfiom
(3) Hﬂ—ﬁi’a{ﬂ SIGEe (4) _-_Jr;'r[.p-i-,q_t—_f]—q o
Options :

53622817317. 1
53622817318. 2
53622817319.3
53622817320. 4

Question Number : 56 Question Id : 5362284447 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of the following Open Educational Resources (OER) comes under the ambit of Indian
Inmitiatives?

(1) Coursera (2y Edse
(3 E - Gyan Kosh (4) Open Stax
Options :

53622817321. 1
53622817322.2
53622817323.3
53622817324. 4

Question Number : 56 Question Id : 5362284447 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



fr=ferfiad gaa e | § 6 #3 o1 qRedrg 98 i 9i o dwd s 27

(L FEm (2) UEH (Edse)
(3) S-FAFMN (4) M=
Options :

53622817321. 1
53622817322.2
53622817323. 3
53622817324. 4

Question Number : 57 Question Id : 5362284448 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

An 1ngquiry oriented activity in which the information comes from resources on the internet.
optimally supplemented with video conferencing is called

(1) Digital Technology (2) Bring Your Own Device (BYOD)
(3) Virtual Learning (4) Web Quest
Options :

53622817325. 1
53622817326. 2
53622817327.3
53622817328. 4

Question Number : 57 Question Id : 5362284448.Question Type : MCQ:Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

il =g o sen forat e donde & e 3 a2l 2 o sad guan w5 fafea sk 5w
Tt Sien 2, 1 0 o S 27

(1)  Tefoea qemh (2) Tom AR 34 feamy (a5 aE.591.9)
(3)  ade @i (4) 8w
Options :

53622817325. 1
53622817326. 2
53622817327.3
53622817328. 4

Question Number : 58 Question Id : 5362284449 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



When teaching learning material iz introduced offline so that learners can access the content
anytime before the class starts and can write down their questions/problems which can be
asked during the classroom 1s called

(1) Virtual classroom (2) Google classroom
(3) Flipped classroom (4) Traditional classroom
Options :

53622817329. 1
53622817330. 2
53622817331. 3
53622817332. 4

Question Number : 58 Question Id : 5362284449 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
S e s JEll 1 SEeE €9 H WA F ST ® arfe AhEm e e 6 9 24 9 TR
fersrraree e Tde Wk a9 S 34 Wl auEn i i fora wek foee 92 e 4 g@ |, 1 # E Se 27

(1) T 79 51 (2) T FolH €Y
(3)  T¥erode FerE w0 (4) ZIZ9He #orm ¥4
Options :

53622817329. 1
53622817330. 2
53622817331.3
53622817332. 4

Question Number : 59 Question Id : 5362284450 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
WBL stands for

(1) Wide Based Learning (2) Web Based Learning
(3 Web Biased Learning (4) Web Based Listening
Options :

53622817333. 1
53622817334. 2
53622817335.3
53622817336. 4

Question Number : 59 Question Id : 5362284450 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



&y ol U 1 AT 2

(1)  arEs &L df (2) a9 aEe wi
(8)  Ha s Al @) sl w ferfe
Options :

53622817333. 1
53622817334.2
53622817335. 3
53622817336. 4

Question Number : 60 Question Id : 5362284451 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

For a group of Adult Learners a trainer provides information to enable them to understand
the information for indicating acceptability or non acceptability of their responses. This will be
technically called providing

(1) Prompts for emission of correct behaviour
(2) Feedback of the given response
(3) Judging the value of information
(4) Information linkage device.
Options :
53622817337. 1
53622817338. 2

53622817339. 3
53622817340. 4

Question Number : 60 Question Id : 5362284451 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
us ufsierss e sfermedisd & age w1 3 e Rl ediEria @ st g e o fer e
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Options :

53622817337. 1
53622817338.2
53622817339. 3
53622817340. 4



Question Number : 61 Question Id : 5362284452 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Who has proposed that “organization shall eliminate the need of quality control after the
process’?

(1) Edward Deming (2)  Walter Shewart
(3) C.K. Prahalad (4) Poka Yoke
Options :

53622817341. 1
53622817342.2
53622817343.3
53622817344. 4

Question Number : 61 Question Id : 5362284452 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

et I |z foan 2 o6 “avra afwan = o uraen feam ) savasa awe g s

(1)  u=are Smm (2) A ar
(3)  Hi. % g&E (4) Tl AT
Options :

53622817341. 1
53622817342. 2
53622817343.3
53622817344. 4

Question Number : 62 Question Id : 5362284453 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of the following statements. represents the rationale underlying “Span of Control™?

(1) One can work effectively for a period of time
(2) One can work with a small number of people
(3) One can make a small group of people to work effectively
(4) One can control a large group of workers.
Options :

53622817345. 1
53622817346. 2
53622817347. 3
53622817348. 4

Question Number : 62 Question Id : 5362284453 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



frefetfiaa # # =17 |1 e fao et & sidfifea e 2 27
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Options :

53622817345, 1

53622817346. 2

53622817347.3
53622817348. 4

Question Number : 63 Question Id : 5362284454 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

The main limitation of Bureaucratic management 1s that

(1) Work efficiency gets questioned
(2) Work procedure gets thwarted

(3) Workers have no choice 1n work procedure
(4) Observing rules and regulations without emphasizing work procedure
Options :

53622817349. 1
53622817350. 2
53622817351.3
53622817352. 4

Question Number : 63 Question Id : 5362284454 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
AreRTamdl yae #1 ugE W 2
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(2) @ /ufEm ¥ sreed e w6 A

(3) i =1 % ufE ° w1 wEa s 98 wE
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Options :

53622817349. 1

53622817350. 2

53622817351. 3
53622817352. 4

Question Number : 64 Question Id : 5362284455 Question Type : MCQ Option Shuffling : No Is Question



Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Which among the following 1s best suited for assessment of social skills?

(1) Checkhst {2) Rating scale
(3) Numerical scale (4) Rubrics
Options :

53622817353. 1
53622817354. 2
53622817355.3
53622817356. 4

Question Number : 64 Question Id : 5362284455 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
HHTTS H19TA = SAfher o Hforfaa § § e qaifes 3uyad 27

(1)  S= g (@) et ar
(3)  3Aifehek wrai (4) THaurae
Options :

53622817353. 1
53622817354. 2
53622817355. 3
53622817356. 4

Question Number : 65 Question Id : 5362284456 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

During the course of teaching a teacher very often uses probing questions to clarify student’s
ideas and concepts. This may be linked with which of the following assessment procedures?

(1) Diagnostic assessment

(2) Predictive assessment

(3) Formative assessment

(4) Summative assessment
Options :

53622817357 1
53622817358. 2
53622817359. 3
53622817360. 4

Question Number : 65 Question Id : 5362284456 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



ferenfefadi & fermi it srgammonsdi #1 o9g 0 6 gfe 3 fere syl g godn 2 | gE s 6 e
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() THeamews s (2) HEI-FATHE HFHAA
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Options :

53622817357 1
53622817358. 2
53622817359. 3
53622817360. 4

Question Number : 66 Question Id : 5362284457 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

“Automated. unconsclous mastery of activities and related skills at strategic level” with
reference to classification of objectives of learning in the psychomotor domain proposed by
R.H. Dave means

(1) Mampulation (2) Articulation
(3) Naturahzation (4) Precision
Options :

53622817361. 1
53622817362.2
53622817363.3
53622817364. 4

Question Number : 66 Question Id : 5362284457 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

W, UF. g9 FNI WEAled HH-Tfe AT & e % el & wffew ¥ Cweafem, seed =9 Od
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(3) "=t (4) WIS
Options :

53622817361. 1
53622817362.2
53622817363.3
53622817364. 4

Question Number : 67 Question Id : 5362284458 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Who of the following developed the concept of Behaviour shaping through the use of principle
of successive approximation?

(1) Thorndike (2) Watson
(3 Skinner (4) Piaget
Options :

53622817365. 1
53622817366. 2
53622817367. 3
53622817368. 4

Question Number : 67 Question Id : 5362284458 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Fre=ferfigs © © fome Jate af=eea T9am & geay 8 s5asn =41 &1 3199non = fastaq faa ary

(1) D IEARE T (2y  =TEHE
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Options :

53622817365. 1
53622817366. 2
53622817367.3
53622817368. 4

Question Number : 68 Question Id : 5362284459 Question Type : MCQ,Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of the following schemes have been subsumed in Samagra Shiksha?

(1) S55A and RMSA (2) RMSA and RUSA
(3) RUSA, 55SA, RMSA and TE (4) SSA,RMSA and TE
Options :

53622817369. 1
53622817370. 2
53622817371. 3
53622817372. 4

Question Number : 68 Question Id : 5362284459 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Freferiiaa o § s R—Hi arsmm s fore o yfgaia 6w $7
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(3)  SATHUHU, UHUHU, SRUHUAY 3R 43 (4) UHUHU, HFUHUHU 37 A



Options :

53622817369. 1
53622817370. 2
53622817371.3
53622817372. 4

Question Number : 69 Question Id : 5362284460 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which theory of Habermas 1s useful way to explore knowledge and itz impact on student
engagement?

(1) Knowledge-constitutive Interest Theory
(2) Critical Theory

(3) Social Theory

(4) Theory of communicative Action
Options :

53622817373. 1

53622817374. 2

53622817375. 3
53622817376. 4

Question Number : 69 Question Id : 5362284460 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
(1)  F=-TEa = HgE
(2)  wfvEeE fogE
(3)  =mEE g
(4)  TAUTEF FE w ST
Options :
53622817373. 1
53622817374. 2

53622817375.3
53622817376. 4

Question Number : 70 Question Id : 5362284461 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



What are the three concepts of knowledge proposed by Deng and Luke?

(1) Disciplinary, practical. experiential
(2) Procedural. meta cognitive, practical
(3) Disciplinary, procedural. experential
(4) Factual. practical. experiential
Options :

53622817377. 1
53622817378. 2
53622817379.3
53622817380. 4

Question Number : 70 Question Id : 5362284461 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
20 S o 3 Wl 04 6 o AR S -t =11 87
(1) ST, saEeie, dqyfaa—
(2)  ulFATEE, TOEAETE, SR
(3) I, Ui, Ffas=
(4)  AsEwEnE, SAEEEH, gt

Options :

53622817377. 1
53622817378.2
53622817379. 3
53622817380. 4

Question Number : 71 Question Id : 5362284462 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of the following institutions 1s directly responsible for the professional growth of school
teachers in India?

(1) CSIR (2) NAAC
(3) NCERT (4) EMMRC
Options :

53622817381. 1
53622817382. 2
53622817383.3
53622817384. 4

Question Number : 71 Question Id : 5362284462 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



fFrferies # 7 #E-H Ten prd 1 e e 6 smEmt gt F o s =1 8 swar 27

(1)  Hi.98. #5310, (2) wATEEHL
(3) e 0= | S5 Ac™ 1 i (4) =.Um.TE.AEE,
Options :

53622817381. 1
53622817382.2
53622817383.3
53622817384. 4

Question Number : 72 Question Id : 5362284463 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which method of the gqualitative research focuses on language and meanings that are given to
texts, for the purpose of ereating and shaping knowledge and behaviour?

(1) Discourse analysis (2) Narrative research
(3) Trend analysias (4) Grounded theory
Options :

53622817385. 1
53622817386. 2
53622817387.3
53622817388. 4

Question Number : 72 Question Id : 5362284463/Question Typé : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

e Y ol A H wafa W 3R 39 sel W aE ol @ F 99 AR SHE9En % g9 Ud @ET & 3997
H sATetfEd i A 2

(1) Te= hE-[:IIﬂ\'G![ {2} HTEATETT Fﬂ'u
(3) g v (4) i fagr
Options :

53622817385. 1
53622817386. 2
53622817387. 3
53622817388. 4

Question Number : 73 Question Id : 5362284464 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Given below 1s a summary of ANOVA for four groups of students tested in a research projeet :

Source of 5SS (Sum of df (Degree of MS (Mean sum of
variance squares) freedom) squares
Between groups 76 2 23.33
Within groups 122 16 7.62
What will be the value of ‘'F" for the above data?
(1) 76/122 (2) 3/16
(3) 23.33/7.62 (4) 77.62/23.33
Options :

53622817389. 1
53622817390. 2
53622817391.3
53622817392. 4

Question Number : 73 Question Id : 5362284464 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
et amfer 4 vek via gfedsHT 3 @1E o = agE #1 ard-fawel (@E) 2 whem w Ea wR 2 |

FAIFIEE | CHuE (S A1) | O (A ) | vqu (S g )

T & HEl TWOR 76 3 28.33

e & e 122 16 7.62

TqT(F SATHFS] 6 ol UFE 1 HE #4207

(1) 76/122 @ 316
ORI 4) 7.62/23.33
Options :

53622817389. 1
53622817390. 2
53622817391. 3
53622817392. 4

Question Number : 74 Question Id : 5362284465 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

A teacher finds that the distribution of scores for a self made test 1s positively skewed. What
inference he/she should make about the difficulty level of this test?

(1) The test i1s difficult

(2) The test 1s easy

(3) The test 1s of moderate difficulty

(4) The test 1s moderately of low difficulty

Options :



53622817393. 1
53622817394.2
53622817395.3
53622817396. 4

Question Number : 74 Question Id : 5362284465 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
U e g8 9 2 foh 3ueh us w-ffda ofiam 2q grer & e O weiers 59 8 s S s
T 2 | 58 Tl & feorear s o fowa 4 3 @ fepd Herern =nfeu?
(1) ufrem e e 2
(2) e o e 2
(8) il mean fies ¥ 12
(4) e HeTn e fFTE WA 2
Options :
53622817393. 1
53622817394. 2

53622817395.3
53622817396. 4

Question Number : 75 Question Id : 5362284466 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

A university teacher has conducted a surveyof achievement ofistudents in chemistry through
a self made test. The distrbution of scores has been studied in terms of mean and standard
deviation for a sample of 100 students. The results are as follows :

Mean = 50 Standard deviation = 10 and N = 100

Assuming that the distribution of scores 1s normal. what will be the Percentile Rank (PR) of a
student whose score 1s 607

(1) 70 2y 75
(3) 50 (4 84
Options :

53622817397. 1
53622817398. 2
53622817399. 3
53622817400. 4

Question Number : 75 Question Id : 5362284466 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



U fErrE et % eI o U i wWisw & gern 3 e U e i IUefed & ddeon )
100 =i % gfiesi % wrcdtl % e w8 genE o awifoes faees g 8 semms e ) i
fa=fetfian 2

geuTE = 50 yaTUrETg=e = 10 a9l #Ye 6 J& = 100

afe o7 WA o s fo wrearani # faeen wmg @ @ o @ faae g 60 2 35 giasans st
(e T ) = Enfi ?

(1) 70 (2) 75
(3) 80 (49) 84
Options :

53622817397. 1
53622817398. 2
53622817399. 3
53622817400. 4

Question Number : 76 Question Id : 5362284467 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

The observation “What the curriculum neglects 1= as important as what 1t advocates for” 1s
related to which of the following types of currieulum?

(1) Overt Curriculum (2) [Hidden Curriculum
(3) Core Curriculum (,‘ﬁ'j Nﬂll@uﬁ'ﬂwlﬂm

Options :

53622817401. 1
53622817402. 2
53622817403. 3
53622817404. 4

Question Number : 76 Question Id : 5362284467 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

az 3fed fob “magwa faedl sme w2 97 I @ seEl @ E R oar foee wwedq s 2
freferfiaa Traggs 4 @ fogs gafig 27

(1)  Weas g (2)  HUeHH TIETFY
(3) el ITEEEy (4) ¥ TTEEEY
Options :

53622817401. 1
53622817402. 2
53622817403. 3
53622817404. 4



Question Number : 77 Question Id : 5362284468 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of the following approaches to Curriculum objectives provides scope for meeting the
self-actualization needs?

(1) Behavioural — Rational Approach
(2) Intellectual — Academic Approach
(3) Systems — Managerial Approach

(4) Humamistic — Aesthetic Approach
Options :
53622817405. 1
53622817406. 2
53622817407. 3
53622817408. 4

Question Number : 77 Question Id : 5362284468 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

qrauEd eyl + FrfefiEa sl 4 | = @ e e Pl = cmEmrae o e A sl e
TEAI 27

(1) S 9o difee 397
@ e i s

(4)  UHHE-HEE 39T
Options :
53622817405. 1
53622817406. 2
53622817407. 3
53622817408. 4

Question Number : 78 Question Id : 5362284469 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

The Congruence-Contingency Model of Curriculum evaluation was developed by

(1) Ralph Tyvler (Zy Malcolm Provus
(3) Hobert Stake (4) Daniel Stufflebean
Options :

53622817409. 1
53622817410. 2
53622817411. 3



53622817412. 4

Question Number : 78 Question Id : 5362284469 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

I3 YerdTeha o1 Jus - e ufeur = fasra feass gr fran e en?

(1) T 215w (2) HeFE gEA
(3)  Tad = (4) Eire e
Options :

53622817409. 1
53622817410. 2
53622817411. 3
53622817412. 4

Question Number : 79 Question Id : 5362284470 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of the following dimensions of curriculum design focuses on interrelatedness of various
aspects of curriculum?

(1) Scope (2)y Sequence
(3) Articulation (4) Continuity
Options :

53622817413. 1
53622817414. 2
53622817415. 3
53622817416. 4

Question Number : 79 Question Id : 5362284470 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

UI3aEn AiuFeq & FreafaiEa smad 0 9 9w srEm geaed F A wwds F wen agd 7 en
Fizda w2t

(1 &4 (2) WA
(3)  FqEdl (4) T
Options :

53622817413. 1
53622817414. 2
53622817415. 3
53622817416. 4

Question Number : 80 Question Id : 5362284471 Question Type : MCQ Option Shuffling : No Is Question



Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Empathetic understanding of the client’s problem 1s stressed in which type of counselling?

(1) Rational-problem analysis based counselling

(2) Person-centred humamnistic approach dominated counselling
{3) Reality based directive counselling

(4) Behaviouristic — modification based counselling

Options :

53622817417. 1

53622817418. 2

53622817419. 3
53622817420. 4

Question Number : 80 Question Id : 5362284471 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
IEE & foFg ywR § genedf 1 oo & qeaylas SEEy W fe o 2

(1) efeher-gwe favermm smeanfea sras

(2)  Efed-hima AHEE Zewm safrE st
(3)  Fd-ameniE e g

(4)  HIENTEHEG-HATIEA ATHIE Ty

Options :

53622817417. 1
53622817418. 2
53622817419. 3
53622817420. 4

Question Number : 81 Question Id : 5362284472 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

A student has graduated from a university. He/She wants help in making the choice of stream
of education. The type of guidance to be put in place for such a case will be called

(1) Perszonal guidance (2) Educational guidance
(3) Vocational guidance (4) Social guidance
Options :

53622817421. 1
53622817422. 2
53622817423. 3
53622817424. 4

Question Number : 81 Question Id : 5362284472 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No



Correct Marks : 2 Wrong Marks : 0

e feenfed femdt favafaamem 3 wrawdl 2 |z faan & fee am & faswes &1 =3, @ a1 d "
q1 TR 2 | 36 WH % 9rae § fam S aren fdum e s 27

(1) =afErmE FHee 2 e Fewm
3y  =EEEE fHeeE (4) =S fHgve
Options :

53622817421. 1
53622817422.2
53622817423. 3
53622817424. 4

Question Number : 82 Question Id : 5362284473 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Who among the following behaviorist theorists of learning advocated the role of cognitive and
molar concepts?

(1) C.L. Hull (2) E.L. Thorndike
(3) E.C. Tolman (4y J.B. Watson
Options :

53622817425. 1
53622817426. 2
53622817427. 3
53622817428. 4

Question Number : 82 Question Id : 5362284473 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

HATeTH o sHFEraTe) fHgma o vfadresl 4 | R g s aaiiE aanest 1 aada fE 2

(1)  Hiva. 2 (2) 3ud. dHEEF
(3) .. Zferls (4) . greE
Options :

536228174251
53622817426. 2
53622817427. 3
53622817428. 4

Question Number : 83 Question Id : 5362284474 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



The techniques in respect of human learning context’ advocated by Carl Rogers were given
the caption

(1) Self-regulated learning (2) Reception learning
(3 Self-initiated learming (4) Discovery learming
Options :

53622817429. 1
53622817430. 2
53622817431.3
53622817432. 4

Question Number : 83 Question Id : 5362284474 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

‘g wfeprg Hed' & wn O el Ted g utauifEa afaten w5 wn gide fEa e o

(1)  =A-#ged #iom @) e s
@ - S (4) @i st
Options :

53622817429. 1
53622817430. 2
53622817431. 3
53622817432. 4

Question Number : 84 Question Id : 5362284475 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Developing brand and enhancing marketing 1s emphasized by

(1) Theory of System Analysis
(2) Signal Theory
(3) Theory of Rational Choice

(4) Human Capital Theorv
Options :
53622817433. 1
53622817434.2
53622817435.3
53622817436. 4

Question Number : 84 Question Id : 5362284475 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



site Tasrfarm s SiR faorm =1 wer w Fasfetia 3 & e g s fm w27
(1)  worrefl fager g

(2) 4 g

(3) i =aa = fagma

(4)  \HE O A
Options :
53622817433. 1
53622817434. 2
53622817435. 3
53622817436. 4

Question Number : 85 Question Id : 5362284476 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

The essential components of a budget are

(1) Building and Infrastructure (2) Income and Expenditure
(3) Policy and Programmes (4) Fees and Salary
Options :

53622817437. 1
53622817438. 2
53622817439. 3
53622817440. 4

Question Number : 85 Question Id : 5362284476 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

fekefl e % st wes e 2

1)  9eq 3R SfEETEE 2) W Y
( @)

3)  ifd siw FrdEm &) T AT
( @ 9
Options :

53622817437. 1
53622817438. 2
53622817439. 3
53622817440. 4

Question Number : 86 Question Id : 5362284477 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



The right to free and compulsory education at primary education level is ensured by the
constitution of India through

(1) Article 45 of directive principles (2) Article 21 B. 2002
(3) Article 21 A, 2009 (4) Article 21 A, 2002
Options :

53622817441. 1
53622817442.2
53622817443. 3
53622817444. 4

Question Number : 86 Question Id : 5362284477 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

ety e o T W A sin swfaErd fen @ st g dfEem g efafEa 9 39 e sk
gf-fo=a o man 27

(1) ifa-FEwe fagr = sq=as 45 (2) ==sE 2140, 2002
(3)  sig=wa 21, 2009 (4) w=wE 211, 2002
Options :

53622817441. 1
53622817442.2
53622817443. 3
53622817444. 4

Question Number : 87 Question Id : 5362284478 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Establishment of DIETs was a result of one of the recommendations of

(1) Fducation Commission — 1966

(2) University Edueation Commission 1948-49
(3) Secondary Education Commission 1952-53
(4) National Policy of Education 1986

Options :

53622817445. 1

53622817446.2

53622817447.3
53622817448. 4

Question Number : 87 Question Id : 5362284478 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Frafafigs o 9 fawd fawfoe & ofomesss 2@e (DIET) & w2 & 7 7

(1) Tor=m s — 1966
(2 Tavafammera foam smam 1948-49
(3)  wreAfyss foam sEm 1952.53
(4) Ty e fifs 1086

Options :

53622817445. 1

53622817446. 2

53622817447. 3
53622817448. 4

Question Number : 88 Question Id : 5362284479 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

The recommendation to reduce the burden of school bags was given by

(1) Yashpal Committee (2) National Commission for Women
(3) Ramamurti Committee (4) National Education Policy 1986
Options :

53622817449. 1
53622817450. 2
53622817451. 3
53622817452. 4

Question Number : 88 Question Id : 5362284479 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

TFel o FEd o e F1 F9 = i o feen o

(1) 99wl Aiafd (2)  TTETg AiEe ATEm
(3) i wify (4) Tefy fren Aifd - 1986
Options :

53622817449. 1
53622817450. 2
53622817451. 3
53622817452. 4

Question Number : 89 Question Id : 5362284480 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Who among the following contributed the book entitled “Savitm : A Legend and a Symbol™?

(1) Mahatma Gandhi (2) Sawitribai Phule
(3) Sr1 Aurobindo (4) Bwami Vivekananda
Options :

53622817453. 1
53622817454. 2
53622817455. 3
53622817456. 4

Question Number : 89 Question Id : 5362284480 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Fferfiaa 4 A A v elieE vg fEe e o oidsh B 7

(1) =t (2) arfadi = gl
(3) i wwfer (@) vl fwE=
Options :

53622817453 1
53622817454. 2
53622817455. 3
53622817456. 4

Question Number : 90 Question Id : 5362284481 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
In Sankhya Philosophy. ‘Evolution’ 1s considered®o ba &

(1) Teleological Process (2) Linear Process
(3) Mechamieal Process (4) Novel Change
Options :

53622817457. 1
53622817458. 2
53622817459. 3
53622817460. 4

Question Number : 90 Question Id : 5362284481 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

i g3t H el S S O

(1)  wErsHYer i (2) T i
(3) it ufEn (4) siya vitadq
Options :

53622817457. 1
53622817458. 2



53622817459. 3
53622817460. 4

Question Number : 91 Question Id : 5362284482 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Which school of Western Philosophy endorses the following metaphysical assertion?
“Since the umverse exists independent of us and 1s governed by laws over which we have hittle

control, it 1s necessary to know certain definite things about this universe in order to adopt to
it”

(1) Idealism (2) Pragmatism
(3) Existentialism (4) Realism
Options :

53622817461. 1
53622817462.2
53622817463. 3
53622817464. 4

Question Number : 91 Question Id : 5362284482 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
TTg= 29 1 A -4 Hearg el geefareer widsfed = gueds #5027

VTR ferva o1 siffded B e @ she ar W el g g g 2 e w e e e 2 ) gafer sae
&Y o4 o foru e o am i wiawa st S o s 2

1)  faarEE (2) THIGTEE
(8)  #Afedeaans (4) =uaE
Options :

53622817461. 1
53622817462.2
53622817463. 3
53622817464. 4

Question Number : 92 Question Id : 5362284483 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



According to NCF (2005), the sahent guiding principles of curriculum development include

(a) connecting knowledge to life outside the school
(b) ensuring that the learning shifts away from rote methods
(c) enriching curriculum beyond textbooks

(d) interfacing with medical model of disability

(e) focusing on the dominant culture

Choose the most appropriate answer from the options given below :

(1) (d). (a) and (c) only
(2) (e). (b) and (a) only
(3) (c). (b) and (e) only

(4) (a). (b) and (c) only

Options :

53622817465. 1
53622817466. 2
53622817467. 3
53622817468. 4

Question Number : 92 Question Id : 5362284483/Question Typé : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



U3 i U (2005) % SHHW MUy fawm * ugE grigis Mardal § it 27
(a)  faermer & amee & Sffaa & fren #1 s

(b) Al T faia § srem T 9 gt we

(¢)  TIBATEAEI H AU T SR TEAFY F HYF dHH]

(@  Teeumren F fafwad ofawm % ama Sevklim
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(1)  #Ed (d), (@) 3 (c)
(2) 44 (e). (b) N (a)
(3)  #ad (c). (b) H (e)

(4)  F9 (a). (b) 3 (o)
Options :
53622817465. 1

53622817466. 2
53622817467. 3
53622817468. 4

Question Number : 93 Question Id : 5362284484 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Which of the following conditions of disabilities have been identified according to the Persons
with Disability Act 1995

(a) Blindness and Low Vision

(b) Hearmng Impairment

(c) Mental Retardation and Mental Illness
(d) Autism Spectrum Disorder

(e) Specific Learning Disabilities

Choose the most appropriate answer from the options given below :

(1) (e). (d) and (b) only
(2) (d). (a) and (e) only
(3)  (a), (b) and (c) only

(4) (e). (c) and (b) only
Options :

53622817469. 1

53622817470. 2

53622817471. 3

53622817472. 4

Question Number : 93 Question Id : 5362284484 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



T 3rt safid srfersrre sfafrem 1995 % s v =) Frefofiaa g £ sfavsm fFnmna?
(a)  givdHd SN we g
(b)  HF T
(¢)  HrRTE HEe 37 Wt =y
(d)  warefin wram fasn
(e)  Tafsre siermy & s
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1) %9 (o), (@) 3T ()
(2 a9 (d), (a) M (e)
(3) %A (a), (b) W (o)
@ FEE (o), (o) 3 (b)
Options :

53622817469. 1
53622817470. 2

53622817471. 3
53622817472. 4 a a

Question Number : 94 Question Id : 5362284485 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Creative common licensing allows the users to

(a) Use the Educational Context
(b) Remix the Educational Content
(c) Remember the Educational Content

(d) Redistribute the Educational content

Choose the most appropriate answer from the options given below :

(1) (a). {c) and (d) only
(2) (c). (d) and (a) only
(3)  (a). (b) and (d) only

(4) (b). (c) and (d) only

Options :

53622817473. 1
53622817474. 2
53622817475.3
53622817476. 4

Question Number : 94 Question Id : 5362284485 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Frufa T SEREET A ® R SR 2 A e
(a) e ey &1 ITER HH
(b)  Hferss fawmasg = e

(c)  diferes faoresg =t =g #o
(d) e faweasg @1 qRfEE
foreifepa fomredi @ & w1t 370 =4
(1)  =ad (a), (¢) 3 (d)
(2)  FEFE (c). (d) 3T (a)

(3)  *Had (a), (b) 3 (d)

(4) a4 (b)), (c) 3T (d)



Options :

53622817473. 1
53622817474. 2
53622817475. 3
53622817476. 4

Question Number : 95 Question Id : 5362284486 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of the following statements exemplify the characteristic features of Linear-Programmed

style of Instructional Technologv?

(a) Small step presentation

(b} Treatment of errors to promote understanding
() Active responding

(d) Demonstrate. prompt and release

(e Immediacy of feedback

Choose the most appropriate answer from the options given below :

(1) {a). (b) and (c) only
(2) {a). (b) and (e) enly
(3) (a). (c) and (&) only

(4) (b). (d) and (&) enly

Options :

53622817477. 1
53622817478. 2
53622817479. 3
53622817480. 4

Question Number : 95 Question Id : 5362284486 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



TATTa 2T 8 | FE FUT F50H G I UG SAHEH Il o SATHeaE Eeears 1 e
G A9 7 7

(a) G WA A

(b) =AY H AEH F AU IR = IR

ic) oiFa ﬂ?ﬁ}ﬂ'l

(d)  TEIF, TeETEA 3

(@) il #i A

(B2 11 2l st I = e £ e 1_:1::[ :

(1) =& (a). (b) #F (c)
(2) = (a), (b) W (e)
(3)  Fa (a). (c) 3 (e)
(4)  Fae (b). (d) ML (e)

Options :

53622817477. 1
53622817478. 2
53622817479. 3
53622817480. 4

Question Number : 96 Question Id : 5362284487 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



The 1implications of constructivist theory for Instructional design 1s reflected through which of

the statements given below ?

(a)
(b)

(c)

(d)

(e)

Instructional design should be specific and learning cutcome related

Instructional design should promote participatory approaches leading to creation of
meaning gIving processes.

Instructional designs should be specific so that learning outcomes are measured
accurately

Instructional designs should provide scope for challening learning contexts and
proactive moves

Instructional designs promote cognitive rather than meta-cognitive process

Choose the most appropriate answer from the options given below :

(1)
(2)
(3)

(4)
Options :

(a) and (b) only
(b) and (d) only
(c) and (d) only
(d) and (a) only

53622817481. 1
53622817482. 2
53622817483. 3
53622817484. 4

Question

Number : 96 Question Id : 5362284487 Question Type : MCQ Option Shuffling : No Is Question

Mandatory : No
Correct Marks : 2 Wrong Marks : 0



forrifore sl ® § formes memm © s19EvR sifusred & fom mmmmard fagr &1 vura afefaa g 27

(a) YR sfvewes & fafoe e gfomm gt g =mee |

(b) IR Al 319 &3 aret wfwmst %1 ovl wores # aret yefrerd 3o w0 g =@ife
(c)  FHeyR HAtawey =i fafore @ =rfae arfe stfeam afomt %1 |52 9 9 2

(d) YR wAfvewen @ sfwmm W g s Hel % fae = 2 % feu e vem s =fae |
() W wfiwen w1 W-sETedE w1 e S ahEa 5 werE g9 =i |
fifera fasedl 4 & w8 3 94

(1)  =ad (a) 31 (b)

(2)  %ad (b) 3R (d)

(3) @A () 3N (d)

(4)  ®FA (d) 3 (a)

Options :

53622817481. 1
53622817482.2
53622817483. 3
53622817484. 4

Question Number : 97 Question Id : 5362284488 tion Shuffling : No Is Question
Mandatory : No
Correct Marks : 2 Wrong Marks :

Which of the following are the types of Mobile Apphication?

(a) Native
(b) Mobile Web
(c) Hybrd

(d) Immigrants

Choose the most appropriate answer from the options given below :

(1) (a). (b) and (d) only
(2)  (a). (b) and (c) only
(3) (a). (¢) and (d) only

(4) (b). (c) and (d) only
Options :



53622817485. 1
53622817486. 2
53622817487. 3
53622817488. 4

Question Number : 97 Question Id : 5362284488 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Frfefaa O & 19 | UEEd uftedeE 1 THT 27
(a) A4
(b)  HEEA A4
()  =nEfae

(d  zHnr=eH

Freifera farsredl o | o I
(1)  =ad (a). (b) 3 (d)

(2)  #ad (a), (b) 31 (c)

(3) @A (a). (e) HH (d)

(4)  FaH (b), () 3 (d)

Options :

53622817485. 1
53622817486. 2
53622817487. 3
53622817488. 4

Question Number : 98 Question Id : 5362284489 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Which of the following have been identified as performance indicators for assessment and

accreditation of institution by NAAC?

(a) Curricular aspects

(b) Research. Innovations and Extension

(c) Governance. Leadership and Management

(d) Election of students union members and their interest
(e) Institutional values and best practices

Choose the most appropriate answer from the options given below :

(1) (b). (c). (d) and (e) only
(2) (a). (b). (d) and (e) only
(3) (a). (c). (d) and (e) only

(4) (a). (b). (c) and (e) only

Options :

53622817489. 1
53622817490. 2
53622817491. 3
53622817492. 4

Question Number : 98 Question Id : 5362284489 Question Type : MCQ,Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Treifere 8 4 fofee et va WerTEA B o (A v w ) g feares e o e O syff T 27

(@)  TISHFY F ATHM

(b) I, FEERE 99 TH

(¢)  IHA, Jefed qU1 e

(d) B0 HE & el 1 HATE a9 3w
(e)  HEUVIA Yol Ud Ieh Y Yecl

fererifepa ool 4 & w1l 2o 94

(1) A (b). (0). (d) 31 (e)

(2) %4 (a). (b). (d) W (e)

(3)  F4d (a), (o), (d) 31 (e)

(4)  Fad (a), (b). (c) W (e)

Options :
53622817489. 1
53622817490. 2

53622817491. 3
53622817492. 4 a a

Question Number : 99 Question Id : 5362284490 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



For describing teaching as a profession. which of the following statements are most

appropriate?

(a) Long or short duration of traiming has effect on making teaching skill repertoire

representative
(h) A well defined performance standard facilitates professional acquisition
(c) Teaching means an activity aimed at influencing others

(d) An orgamsed body of knowledge brings sophistication in a profession

(e) Teaching and learning are like selling-buyving transactions

Choose the most appropriate answer from the options given below :

(1) (a). (d) and (e) only
(2) (a). (b) and (c) only
(3)  (d). (c) and (e) only
(4) (a). (b) and (d) only

Options :

53622817493. 1
53622817494. 2
53622817495. 3
53622817496. 4

Question Number : 99 Question Id : 5362284490 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Toreun =1 wek S o w4 Jvi4 & o Feferfiaa 4 8 wh -a sea waiias suge 27

(@)  wfsie ) E o ey srafa A fosm e i o giafio s W aarE gear?
M) ue gt sl -Foares v i st s g e 2
(¢)  Tovemor o1 w3 gl o) Wi o T eAfed ey 2 |

(d) 3 ve sEfEm e R S Y i e |

(e) T sz sifenm s -faga U f4fed ci-<a |12

forifer foremedi 3 8w TR -

(1) F4d (a). (@ M (o)

@  F49 (a). (b) 3 ()

(3  FEE (). () 3 (e)

(4  F4d (a). (b) 3V (d)
Options :

53622817493. 1
53622817494. 2
53622817495. 3

53622817496. 4 d d’
Question Number : 100 Question Id : 536228449a aptlon Shuffling : No Is Question

Mandatory : No
Correct Marks : 2 Wrong Marks :



Which of the following are presage related criteria for teacher evaluation?

(a) Teacher's personality pattern and motivational disposition

(b) Teacher’s method of providing feedback and follow up action during instruction
(c) Extent of learning and motivation ensured by the teacher while teaching

(d) Social competence and self-esteem of a teacher

(e) Management and mentoring technique employed by the teacher

Choose the most appropriate answer from the options given below :

(1) (a) and (d) only
(2) (b) and (c) only
(3) (d) and (e) only

(4) (c) and (a) only
Options :
53622817497. 1
53622817498. 2
53622817499. 3
53622817500. 4

Question Number : 100 Question Id : 5362284491 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Freferfad 0 3 14 e goar=a # fou qdadi g9g gHez et

(a)  Tored & =afadea &1 w=Ey 3R sfasTomens g

(b) &M # ErE wiagfe 23 siw sygadi G das e g s 0 vafd
(¢)  Toremn = v fnere gro giafoaa fa o sifenmg siw st <) aen

(d)  TErerss i gt wmed si wErfeme

(e) ek 3/ W wsiee 3R sigem ufaiy

fenifera ferspedi | & @l 390 94

(1) %A (a) 3 (@)

(2)  *ad (b) 3 (o)

(3) 4 (@ N (e)
options

53622817497. 1
53622817498. 2
53622817499. 3

53622817500. 4 I
Question Number : 101 Question Id : 53622844a aptlon Shuffling : No Is Question

Mandatory : No
Correct Marks : 2 Wrong Marks :



Which of the following programmes are related to gquality improvement in in-service
education?

(a) Foundation course in teacher education

(h) Skill development programimes

(c) Courses on pedagogy 1n specific subjects

(d) Induction training

(e) Micro simulation for competency development

Choose the most appropriate answer from the options given below :

(1) (a). (b) and (c) only
(2) (b). (c) and (d) only
(3) (b). (d) and (e) only

(4) (c). (d) and (e) only
Options :
53622817501. 1
53622817502. 2
53622817503. 3
53622817504. 4

Question Number : 101 Question Id : 5362284492 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



feretferfiera H 9 #la-8 g Han 7a o 1 poras § gar 8 dEtaE 27

(a)  SrEATOEF Toien 4 SRy w3EEy
(b) I faFR FraFEy
() Tarsm faryanl 0 foeqomrmes el argasy
(dy  ufafs gfEem
(e)  wretvm fashral 7q Hew SgE
Freifira forarendt o & ot 3me o -
(D Fad (a). () 3 (o)
@  FAd (). () I (@)
(3)  FAE (b). (d) N (e)
(@  FE (o). (d) 3 (e)
Options :

53622817501. 1
53622817502. 2
53622817503. 3
53622817504. 4

Question Number : 102 Question Id : 536228449i iiuestlon ype : Lgption Shuffling : No Is Question

Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Which of the following sampling methods are probability bazed?

(a) Cluster sampling

(b) Quota sampling

(c) Systematic sampling
(d) Dimensional sampling

(e) Stratified sampling

Choose the most appropriate answer from the options given below :

(1) (b). (c) and (d) only
(2) (a). (c) and (e) only
(3) (a). (d) and (e) only
(4) (c). (d) and (e) only

Options :

53622817505. 1
53622817506. 2
53622817507. 3
53622817508. 4

Question Number : 102 Question Id : 5362284493 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



ufd=e =44 w1 TentEa e 9 o o G w siE 2

(@) e ufdeel gferay
(®) st e i
(¢  =yaferm gfdesl wfdeam
(@)  feamregs wfaasl sfde
(e) i ufdesl ufa=ae
fifera forsreal o & w39 =4
(1) & (b), (¢ 3 (@)
(2)  #ad (a), (c) FN (e)
(3)  #ad (a), (d) N (e)
@ F4E (0. (d) T (e)
Options :

53622817505. 1
53622817506. 2
53622817507. 3

53622817508. 4
Question Number : 103 Question Id : 536228449as ype: aption Shuffling : No Is Question

Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Identify from the hst of characterstics given below those which are related to a good
hvpothesis 1n a research :

(a) Simplicity of explanation

(h) Plausibihity of explanation

(c) Highly difficult to verify the postulated relations

(d) Not related to an existing theory

(e) Relationship formulated among variables having conceptual clarity

Choose the most appropriate answer from the options given below :

(1) (a). (b) and (c) only
(2) (b). (c) and (d) only
(3) (c). (d) and (e) only
(4) {a), (b) and (e) only

Options :

53622817509. 1
53622817510. 2
53622817511.3
53622817512. 4

Question Number : 103 Question Id : 5362284494 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



frefefea g § 5 39 faoreaa =1 Ffza % o 99 9 v 3w afewer |§ gaian @

(a) =T FI HEFA
(b) =TS 1 HEITEIAI
(c) AfTaroTERa Hadl ®1 HEOA & 9 deiae Faa
(@  foemm fagm B et 5@
(e) = U wiaurfen wea=y 1 HraeeHE 9
foreifera faspedt § & F 3 =4
(1) %9 (a) (b) 3 (0)
@) FFE (b), () 3N (@)
(3)  HF (o), (d) I (e)
(4)  Fad (a). (b) I (e)
Options :

53622817509. 1
53622817510. 2
53622817511. 3
53622817512. 4

Question Number : 104 Question Id : 53622844a
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

a)tion Shuffling : No Is Question



Which of the following iz the correct order of human needs as formulated in Maslow's

hierarchy of needs?

(a) Safety needs

(b) Love and belonging needs

() Physiological needs
(d) Self-actualization needs
(e) Esteem needs

Choose the most appropriate answer from the options given below :

(1) (c). (a). (b), (¢) and (d) only
(2) (a). (c). (b). (d) and (e) only
(3) (b). (a), (c). (d) and (e) only

(4) (c). (b). (a). (e) and (d) only
Options :
53622817513. 1
53622817514. 2
53622817515.3
53622817516. 4

Question Number : 104 Question Id : 5362284495 Question Type: MCQ:Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



HrEA] 1 HIHETE savgsRdIs o He | giaaiiad % gerged 4 savEsd1- Afaa 1 Ha SHEE a1t

(@)  HIEA I SHETIHA

(b) U9 ddTE ) sraEEan

() IATTFATE S AETIFAT

(@ e e 1 s

()  HOYMH =l IEFEFAT

fifere fersreni o & w1l 3a0 <4

() FEE (©. (@), (). (o) 31 (d)

@ F9E (@), (). (b). (d) 3 (e)

(3)  Fa (D), (@). (). (d) 3 (e)

(4 A (AN (R () e & (A)
Options :

53622817513. 1
53622817514.2
53622817515.3
53622817516. 4

Question Number : 105 Question Id : 53622844a

Mandatory : No
Correct Marks : 2 Wrong Marks : 0

sddaption Shuffling : No Is Question



Which 1s the correct sequence of tasks involved in the development of curriculum?

(a) Formulating goals and objectives

(b) Assessing needs

(c) Selecting appropriate instructional strategies

(d) Selecting and organising content

(e) Evaluating effectiveness of learning and instruction

Choose the most appropriate answer from the options given below :

(1) (a). (b), (d). (c) and (e) only
(2) (b). (a). (d). (¢) and (e) only
(3) (b). (a), (c). (d) and (e} only
(4) (a). (c). (b). (d) and (e) only

Options :

53622817517. 1
53622817518. 2
53622817519.3
53622817520. 4

Question Number : 105 Question Id : 5362284496 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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(a) @& = 3gevdl =1 Faim

(b)  ATETIHAIH] I ATFAA

(@ Zagewd Afafers wEifd = =g

(@  =afd a gerafen s

(&)  sifemmHa srEyr ol waTiae 1 gear

feTTea fasredi | 8 |l 393 =4
(1)  #ad (a). (b). (d). (c) 31 ()
(2  F4d (b). (a). (). (c) H (e)

(3  F&d (). (a). (), (d) # (e)

4 FAd (a). (c). (b) (d) 3 (e)

Options :
53622817517. 1
53622817518. 2

53622817519. 3
53622817520. 4 a a

Question Number : 106 Question Id : 5362284497 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



In the statements given below. identify those which are related to competency-bazed
curriculum design?

(a) The abilities and learning styles of individuals get a support

(b) Individuals memory based knowledge 1s stressed

(e) Individuals are helped to achieve their potential

(d) Domain specific proficiency of individuals 1s focused

(e) Curriculum gets designed with an 1dealist perspective

Choose the most appropriate answer from the options given below :

(1) (a). (b) and (c) only
(2) (b). (d) and (e) only
(3) (a). (c) and (d) only
(4) (d). (e) and (a) only

Options :

53622817521. 1
53622817522. 2
53622817523.3
53622817524. 4

Question Number : 106 Question Id : 5362284497:Question Type : MECQuOption Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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(c)  =afeFerdi =1 391 e 1 Gafeid w3 for meg =i 2 |
(d) =il ) sram fafure g o = fe s 2
(e) U srETiaTE ufiteay 4 urzgswy s 2 2 |
Trepifera fasredi | & ol 39 94 -

(1) %= (a). (b) 1 (o)

2 FEE ). (@) 3 (o)

(3  FEE (). () 3 (d)

(4 FaE (d). (o) 3N (@)

Options :

53622817521. 1
53622817522. 2

53622817523, 3
53622817524. 4 a a

Question Number : 107 Question Id : 5362284498 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



For traiming in behaviour modification using Skinner's operant conditioning model 1n which of
the following types of procedures. negative reinforcement 1z made contingent on making or
with holding of a response in the presence or absence of cues?

(a) Reward learning

(b) Escape learning

() Punishment learning
(d) Active avoidance learning
(e) Discriminated operant learning

Choose the most appropriate answer from the options given below :

(1) (a). (b) and (c) only
(2) (b). (d) and (e) only
(3) {(c). (d) and (e) only

(4) (b). (¢) and (d) only
Options :

53622817525. 1
53622817526.2

53622817527. 3

53622817528. 4

Question Number : 107 Question Id : 5362284498.Question Type:: MCQ:Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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(a) R Afwm

(b) 1A arfarm
(¢  @vg
(d)  afEr s
(e)  Taiidigpa faen vwga sy
e fasedi 0 © w8 3o 4

(1) &34 (a), (b) 3 ()
(2)  FF (b). (d) 37 (e)
(3)  Fa4 (). (d) 3 (e)
@) &FE (b). () 3N (d)

Options :

536228175251
53622817526. 2
53622817527.3

53622817528. 4 d
Question Number : 108 Question Id : 536228449as 2 aption Shuffling : No Is Question

Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Which of the following statements describe the major puroses of mental hygiene?

(a) Prevention of mental disorders

(b) Preszervation of the mental health of the individual and the group

(c) Satisfaction of security and esteem needs of a person
(d) Discovery and utilization of therapeutic measures to cure mental 1llness
(e) Promoting between interpersonal relationship in a group

Choose the most appropriate answer from the options given below :

(1) (a). (b) and (c) only
(2) (a). (b) and (d) only
(3) (b). (c) and (d) only

(4) (c). (d) and (e) only

Options :

53622817529. 1
53622817530. 2
53622817531. 3
53622817532. 4

Question Number : 108 Question Id : 5362284499 Question/Type :[IMCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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(b)  =afFd ¥ 9HE F AEHE R A
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(1) === (a). (b) 3 (¢)
(2) == (a), (b) 3 ()
(3)  =AH (b). (c) ¥ (d)
(4) A (c), (d) 3T (e)

Options :

53622817529. 1
53622817530. 2
53622817531.3
53622817532. 4

Question Number : 109 Question Id : 5362284500 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Which of the following shifts have been suggested by NCF-2005 for teachers?

(a) Knowledge disbursed to knowledge owned

() Disciplinary to multidisciplinary focus

(c) Learners autonomy to teacher directions
(d) Teacher centric to learner centric designs
(e) From four walls of classrocoms to surroundings and outside the classroom

Choose the most appropriate answer from the options given below :

(1) (a). (b) and (e) only
(2) (b). (d) and (e) only
(3) (b). (a) and (c) only
(4) (d). (e) and (a) only

Options :

53622817533. 1
53622817534. 2
53622817535.3
53622817536. 4

Question Number : 109 Question Id : 5362284500 Question/Type :IMCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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()  Farerm & s -faema wam FE
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(1) =4 (a), (b) 3N (e)
(20 F=E (b), (d) W (e)
(3)  Fad (b). (@) 3N (o)
@ F (). (e) (@)

Options :
53622817533. 1
53622817534.2

53622817535. 3
53622817536, 4 a a

Question Number : 110 Question Id : 5362284501 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



The concepts of education which will be aszented to by Vedant Philosophy are

(a) Awakening of intelligence with all the three G's — IQ. EQ. and 3§
(b) Vocationalization of education

(c) Inclusive education

(d) Reptilian leadership model

(e) Education for all

Choose the most appropriate answer from the options given helow

(1) {a). (b) and (¢) only
(2) (b). lc) and (d) only
(3) (c). (d) and (e) only
(4) (a). (¢} and (e) only

Options :

53622817537. 1
53622817538.2
53622817539. 3
53622817540. 4

Question Number : 110 Question Id : 5362284501 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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(e) i = oo e

iR Tt 5 o =@ 3 9

(1) == (a). (b) W (c)
(2) = (h). (¢) #E (d)
(3)  FaH (c). (d) FE (e)
(4) A= (a). (c) (&)

Options :

53622817537. 1
53622817538. 2
53622817539. 3
53622817540. 4

Question Number : 111 Question Id : 5362284502 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Savitribai Phule 1s known for her contribution in which of the following listed areas?

(a) Peace Education

(b) Art education

(c) Education of the scheduled castes
(d) Women education

(e) Child care education

Choose the most appropriate answer from the options given below:

(1) a and d only
(2) b and c only
(3 a and c only

(4) ¢ and d only
Options :
53622817541. 1
53622817542.2
53622817543. 3
53622817544. 4

Question Number : 111 Question Id : 5362284502 Question Type.: MCQ.Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



wifesfars wet w1 A= o1 g o stetd HH -3 A 1 39k Arrar & T s s 27
(a) @i foen

(b) el furaq

() sgefa stfaai 1 fan

(d)  afzensi$fuan

(e)  ®Tel SrEuTe THreq]

freifera faaredi 4 & |al 39 o4 ;

(1) &3 (a) 37 (d)
(2)  Fa (b) 3 (c)
(3) e (a) 3 (o)
(4)  F9d (o) 3 (@)

Options :
53622817541. 1
53622817542. 2

53622817543. 3
53622817544. 4 a a

Question Number : 112 Question Id : 5362284503 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Identify from the following list those factors that help in social mobility

(a) Education
() Caste
(c) Income

(d) Occupation

(e) Religion

Choose the most appropriate answer from the options given below:

(1) a. b and e only
(2) c.d.and e only
(3 a.cand e only

(4) a, c and d only

Options :

536228175451
53622817546. 2
53622817547. 3
53622817548. 4

Question Number : 112 Question Id : 5362284503 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



freiiera ==l H H 39 101 61 TEeE 1 S AT MAiierd H HaTgd #id 27

(a)  Taven

(b) =

(c) HH

(d)  =HEEE

(e) 44

Freiferd fasredi 0 39 3o gH

(1)  =dad (a). (b) 3 (e)
(2)  *F= (). (d) 3 (e)
(3)  Ha (a). (c) T (e)

(4)  Fad (a). (c) FF (d)

Options :
53622817545. 1

53622817546. 2
53622817547.3
53622817548. 4

Question Number : 113 Question Id : 5362284504 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Match the disability in List I with its description in hist IT

List I Last II
Disability Description

(a) Dyspraxia (1)  Difficulty 1n paying attention and
action without knowing consequences

(h) Dyzlexia (11) Dafficulty in development of hteracy
and language related skills

{cy ADHD (1) Dafficulty 1n writing associated with
usage of wrong word during
communication

(d) Dysgraphia (1v) Difficulty in motor coordination
resulting 1m poor or out of order
movements

Choose the correct answer from the options given below :

(1) {(a)-(1), (b)-(111), (e)-(1v). (d)-(11)
(2) (a)-(11). (b)-(1). (e)-(12). (d)-(1v)
(3) (a)-(1v). (b)-(1). (c)-(11). (d)-(111)
(4) {a)-(1v). (b)-(11). (e)-(1). (d)-(111)

Options :

53622817549. 1
53622817550. 2
53622817551. 3
53622817552. 4

Question Number : 113 Question Id : 5362284504 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Tl T8 51 72 fozamman =1 g [ § 3a% T 5 f5em =1

Tt 1
(Fezarman)
(a) TeouteEm

(c) USUEED
(dy ==

ey & ° w9 3% 91

(1) (a)-(1). (b)-(11). (e)-(1v). (d)-(11)
(2) (a)-(111). (b)-(1). {c)-(11). (d)-(1v)
(3) (a)-(1w), (b)-(1). {e)-(11). (d)-(111)
(4) (a)-(1v), (b)-(i1). (e)-(1). (d)-(111)

Options :

53622817549. 1
53622817550. 2
53622817551. 3
53622817552. 4

= 1T
(farm)
(i) =F =9 0 Flaae 3 gim 99 5 o
F1
(i) el s 9 gEdt #ive * T
e

(iii) HT9 F AT U5 F TAFT F WY T @
ﬁ"al‘j:l:

(v) Tia® TF=F9 5 FieaE =589 I7Ie @ m
=rgel Tl 2l 2 |

Question Number : 114 Question Id : 5362284505 Question Type : MCQ Option Shuffling : No Is Question

Mandatory : No
Correct Marks : 2 Wrong Marks : 0



List I embodies situational leadership styvle and List II indicates the power resource which
supports them.

List I #* Last IT
Situational leadership style Power resource
(a) Directive stvle (HT/LR) (1)  Expert power
(b) Supportive style (HT/HR) (11) Information power
(¢) Participative styvle (LT/HR) (1) Reward power
(d) Delegating stvle (LT/LR) (itv) Coercive power
* HT = High Task HR = High Relationship
LT =Low Task LR = Low Relationship

Choose the correct answer from the options given below :

(1) {(a)-(1). (b)-(m). (e)-(1v). (d)-(111)
{(2) {a)-(111). (b)-(1v). ()-(1). (d)-(11)
(3) (a)-(1v). (b)-(111). (c)-(11). (d)-(1)
(4) (a)-(11). (b)-(1). (e)-(1v). (d)-(111)

Options :

53622817553. 1

53622817554. 2

53622817555. 3
53622817556. 4

Question Number : 114 Question Id : 5362284505 _Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



wefi Tohl | 118 | e &d | - g 1 offeifam 99e stefl aen =t 119 39 5odq verft wifda
HHT 1 3eerd # |

o 1 T 11
(fefefa Fqea) (war wrfed waaa)
(a) Taesmems 9= (HT/LR) (1) fasms-wrfem
(b) HHgAUETE Stefi (HT/HR) (i) AT
(c) wfaumTs $ief (LT/HR) (i) TR HErE -
(d) wfafeamErs el (LT/LR) (iv) e -
* HT = (3%9 %) HR = (359 Ha4)
LT = (Feraita =) LR = (feaita ga)
feferfaa @ @ 98 39 =4 .

(1) (a)-(D). (b)-(ii). (c)-(1v). (d)-(iii)
(2)  (a)-(11). (b)-(v). (e)-(1). (d)-(11)
(3) (a)-(1v). (b)-(111). (c)-(11). (d)-(2)
(4) (a)-(11), (b)-(1), (e)-(1w). (d)-(111)

Options :
53622817553. 1
53622817554. 2

53622817555. 3
53622817556. 4 a a

Question Number : 115 Question Id : 5362284506 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



List I presents names of orgamizations and List IT 1s about their functions.

(a)

(b)

(c)

(d)

Last I

Organization

UuGo

NAAC

CABE

NCTE

List IT
Function

To formulate new policy and
programmes of education

To maintain and regulate standards of
higher education

To regulate standards of the
institutions of teacher education

To give accreditation to institutions of
higher learning

Choose the correct answer from the options given below:

(1)
(2)
(3)

(4)
Options :

(a)-(iv). (b)-(i1). (c)-(iii). (d)-(1)
(a)-(111). (b)-(1). (¢)-(av), (d)-(11)
(a)-(1), (b)-(v), (e)-(2). (d)-(111)
(a)-(11), (b)-(1id). (e)-(1), (d)-(v)

53622817557. 1
53622817558. 2
53622817559. 3
53622817560. 4

Question Number : 115 Question Id : 5362284506 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



T 1o e 18 forerm = | =f 18 wrmea a9 g 11 395 R 1 fam 2 )

g4 1
(#13A)
() 4 f i
(b) TUAUUH]
() Hiusdfiz
(d) w3 Ad
Frefefiaa 49 wd a4
(1) (a)-(1v). (b)-(i1). (c)-(1i1), (d)-(1)
(2) (a)-(11), (b)-(1). (c)-(v). (d)-(11)
(3) (a)-(11). (b)-(1v). (c)-(1). (d)-(111)
(4) (a)-(11). (b)-(111), (c)-(1). (d)-(1v)
Options :

53622817557. 1
53622817558. 2
53622817559. 3
53622817560. 4

Question Number : 116 Question Id : 53622845

Mandatory : No
Correct Marks : 2 Wrong Marks :

gl 11

()
@)  Toen i 9g Aifa 9 3ok riey dm w
(i)  F=aa f91eA1 = | &1 9 3 fafaea
(i) ek foen GraEi # e 1 fafe

(iv) Tl ST BEAH] F YedT9 T2H

(adydaltlon Shuffling : No Is Question



List I gives levels of teaching and List II provides teacher learner activities.

LastI
Levels of Teaching

(a) Autonomous Development Level (1)

(b) Memory Level (11)
(¢) Understanding Level (111)
(d) Reflective Level (1v)

List IT
Activities
Problem raising and problem solving

by teachers and studentz 1n a
participatory mode

Feeling of autonomy with hittle or no
scope for teacher intervention - a kind
of negative education

Emphasis on positive and negative
examples with a view to promote
concept attainment

Clear and systematic presentation of
facts and their description with an eve
on correct retention

Choose the correct answer from the options given below:

(1) (a)-). (b)-G). (e)-av), (d)-(1)
(2)  (a)-Gv). (b)-(i1). (c¢)-(i). (d)-()
(3)  (@-). (b)-(1), (e)-(i11), (d)-(v)
4  (a)-@). (b)-(v). (e)-Gid), (d)-()

Options :

53622817561. 1

53622817562. 2

53622817563. 3

53622817564. 4

Question Number : 116 Question Id : 5362284507 Question Type : MCQ Option Shuffling : No Is Question

Mandatory : No
Correct Marks : 2 Wrong Marks : 0



w14 foreon o = fou o 8 offt g=h 110 foers stiusrawsal feramsrerd fau o 8 ) 5= 161 g=t 4
F 11 4 gifea $ifae |

T 1 g 11

(a) v famm = (i) wfagrres =9 0 foems wa fafd gm
O] i ISFT 3 W] 1 JUTEH H]

(b) Hgfa == (i) wEEEar 6 ure, Tamd foees gm T
U % BTAAY F F TAEY 4 EH-US
w1 e e

(c) AaElE =1 (iil) ¥ HoE @ dieErEd w @ g H
HEFATAHE U FHATHF IaTE0 | ad

(dy Tamsifs ww (iv) & ¥4 § 9E0 gq A% 61 THE Ug STaied
wEAfd AU I ferarm

#r feu mu fawedi ¥ & wdl 3w i -

(1) (a)-(11), (b)-(1). (e)-(1v), (d)-(11)
(2) (a)-(v), (b)-(1m), (c)-(11). (d)-(2)
)
)

—

3 (a)-(1). (b)-(i1), (e)-(1i1). (d)-(iv)
(4 (a)-(1). (b)-(1v), (e)-(111). (d)-(1)

Options :
53622817561. 1
53622817562. 2

53622817563. 3
53622817564. 4 a a

Question Number : 117 Question Id : 5362284508 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Match the models of teacher education in List I with the description in Last I

List I List IT
Models of teacher education Dezcrption
{a} Compentency based (1)  Participants explore academic content

by posing and investigating question

(b) Behaviounstic (11) EKnowledge and skills are developed by
observation

(¢} Inguiry oriented (111) Principle of operant conditioning used
for teacher training

(tv) Participants become proficient through
demonstrating mastery

Choose the correct answer from the options given below:
(1) (a)-v). (b)-(ii). (e)-(1)
(2) (a)-(11). (b)-(1). (e)-(1v)
(3) (a)-(m1). (b)-(1). (c)-(1)
(4) (a)-(1). (b)-(111). (c)-(11)

Options :

53622817565. 1
53622817566. 2
53622817567.3
53622817568. 4

Question Number : 117 Question Id : 5362284508 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Hl 19 ey foen & ufewmi &1 g2 118 39 faeo | foem =1

List 1
(31T T9rem & 9fEaa)
(a) WEMrAT A
(b) THIENTF
(© U IqG
freaferfga @ & wd 370 94

(1) (a)-(1v), (b)-(113), (c)-(1)
(2) (a)-(1), (b)-(1). (c)-(1v)
(3) (a)-11). (b)-(11). (c)-(1)
(4) (a)-(1). (b)-(1m1), (e)-11)

Options :

53622817565. 1

53622817566. 2

53622817567. 3
53622817568. 4

@

(w)

(111)

(1v)

List IT

(Feareon)
U e A WUl @ A gE S
Tawaras] &1 A @ A |
A AT FI9EA, e g faenia faen
T E |
AT UTE % for famn sEEs %5
T |
fawg w0 qui srfaer wefsla & & werm |
terarfl fogon &= = # |

adda

Question Number : 118 Question Id : 5362284509 Question Type : MCQ Option Shuffling : No Is Question

Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Match the types of research in List I with the features in List IL

List I
Types of research
(a) Exploratory
(b) Cross-sectional
(c) Explanatory

(d) Trangulation

(e) Longitudinal

(1)

(11)
(111)
(1v)

(v)

List 1T
Features

Quantitative and qualitative data are
gathered and integrated

Qualitative data 1s gathered first and
the same predominates later

Retrospective analysis of history of a
unit

Quantitative data 18 gathered first and
the same predominates later

Macro level analysis attempted for the
data

Choose the correct answer from the options given belows:

(L (a)-(v), (b)-(11), (e)-(1). (d)-(12), (&)-(1V)
(2) (a)-(11). (b)-(v), (c)-(1v). (d)-(1). (e)-(111)
(3) (a)-(1v). (b)-(111). (c)-(2). (d)-(n1) . (e)-(v)
(4) (a)-(1). (b)-(11). (e)-(i11), (d)-(1v). (e)-(V)

Options :

53622817569. 1

53622817570. 2

53622817571.3

53622817572. 4

Question Number : 118 Question Id : 5362284509 Question Type : MCQ Option Shuffling : No Is Question

Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Ht 19 Ieeifigd W o Webr &1 {1 110 Ieeifaa faomas | faem =1

Tt I
(Tr 1 T
(a) TR

(b) & TR FTETG

(c) EATETE

(d)  FErgsTEFm
(e)  ITIeexTH
frefefas 7 @ 98 3@ == -

(1) (a)-(v), (b)-(11), (c)-(1). (d)-(11). (e)-(1v)
(2) (a)-(11). (b)-(v), (€)-(1v), (d)-(1), (e)-(111)
(3) (a)-(v). (b)-(111). (c)-(1). (d)-(11) . ()-(¥)
(4)  (a)-(). (b)-(1), (e)-(i11). (d)-(iv). (e)-(v)
Options :

53622817569. 1

53622817570. 2

53622817571.3
53622817572. 4

Fl 11
(Tersreama)
(1) WEHTHE U9 e Wed Hehiad (U
FE B Ayl 3% wofaa T S 2 |

(i) TI9IH TUTEHE Wed Hehfc I e #
aY1 39 # are o war fierwn 2 |

(i) Wek SH1E o gfara =1 qeerdl favemo |

(iv) Hau«q qfigroneges yad Heahied [ Fd 8
31 Jg o UETEE W |

(v) weEdl @ fere maimE fasemo

adda

Question Number : 119 Question Id : 5362284510 Question Type : MCQ Option Shuffling : No Is Question

Mandatory : No
Correct Marks : 2 Wrong Marks : 0



List I consistz of kinds of curriculum change according to complexity, List II comprises
examples of such curriculum change:

List I List IT
Tvpe of curriculum change Examples

(a) Substitution (11 Emphasis on personal growth of
students than academic growth

(b) Alteration (11) Change 1n time allowed for teaching a
particular subject

{c) Perturbation (1) New text book replaces the old text
book

(d) Value orientation (1v) Introduction of new content into

exizting learning materials

Choose the correct answer from the options given belows :

() (@)-av), (b)-(1). (e)-(1). (d)-(1i1)
(2) (a)-(1). (b)-(111). (c)-(1v). (d)-(12)
(3)  (a)-(iil). (b)-(iv). (c)-({i). (d)-(@)
(4)  (a)-(D). (b)-(). (c)-(11). (d)-(iv)

Options :

53622817573. 1

53622817574. 2

53622817575.3
53622817576. 4

Question Number : 119 Question Id : 5362284510 Question Type.: MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



A [ A o SFAHR TSTHT THETA FUHE @ g 10 UH Iy 9iEne o I 8 =4 2| g+ 1
I gl 115 Hgaferm 1

T 1 T 11
(I3FHH IETH & T (FeTE)
(a) UfFEATR (1) et T & amden faenfd=l o safeam
fawm m AR gm 2
(h) @Ed (i) faum fawg =1 wge & fom feu o ooy o
BICEE|
(c)  FFAEAEASI (1i1) :rzﬁtigﬁgwﬁgmﬁmﬂmﬁmm
AT
(d) TF THE (iv) e sifemm wmoht § 9 sa-awg H
TEATA
fqeifera Tashedl d | |81 I 4

(1) (a)-(v ), (b)-(11). (c)-(1). (d)-(111)
(2)  (a)-@), (b)-(ii1). (c)-(v), (d)-(11)
(3) (a)-(11), (b)-(1v). (e)-(11). (d)-(1)
(4) (a)-(11), (b)-(1). {e)-(111). (d)-(iv)

Options :

53622817573. 1

53622817574. 2

53622817575.3
53622817576. 4 a a

Question Number : 120 Question Id : 5362284511 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



List I consists of types of evaluation in CIPP model while List IT comprises the objectives to

be achieved through these evaluation

List I
Types of Evaluation

(a) Context evaluation

(b) Input evaluation

{c) Process evaluation

(d) Product evaluation

(1)

(1)

(111)

(1v)

Last IT
Objectives
To 1dentify defects in the procedural
design or 1ts implementation plan

To communicate information
regarding objectives achieved and
contents covered

To determine the needs and
opportunities present and diagnose
the problems

To 1identify and assess the school
system capacities

Choose the correct answer from the options given belows:

(1)

(2)

(3)

(4)
Options :

(a)-(11). (b)-(111). (c)-@v ). (d)-(1)
(a)-(11), (b)-(iv). (¢)-(1), (d)-(11)
(a)-(v). (b)-(1). (e)-(1). (d)-(11)
(a)-(1). (b)-(u).(e)-(111). (d)-(1v)

53622817577. 1
53622817578.2
53622817579. 3
53622817580. 4

Question Number : 120 Question Id : 5362284511 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



oAl T d g O geria o weRi] o sl 2 stafeh f 11 g9 geateAl o qread | e fou st arel 38yl
dadi 2|

g1 1 11

(2) HRH-YEA (@)  fsarens sifuwmes § a1 3u e | gf
1 TEIHA

(b) AT () W TR Mo SgEvl @ ymEfTE a9
Hafrd H=A1 ] HUTA FAT

(c) i -urared (i) faEmm s a9 AEvEEa s & i g
LN A 1 HEH

(d) IedE-Yeaie (iv) Tkl Wrrefl e si =l TEeE H 9 s
FAT

feeifera faskedi § 4 ad o0 94

(1) (a)-w). (b)-(m). (©)-v). (d)-0)
(2 (a)-aw. (b)-Gv). (e)-Q). (d)-({D)
3 (@-w). (0)-0),(e)-(1). (d)-(111)
@ (a)-0). (b)-(i1). (e)-(m). (d)-(iv)

Options :
53622817577. 1

53622817578. 2
53622817579.3
53622817580. 4

Question Number : 121 Question Id : 5362284512 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



List I gives the names of intelhgence theories while ListIl indicates the proponents of

theories
ListI Last IT
Intelligence theory Promoters
(a) Multiple Factor theory (11 Daniel Golemen
(b) Structure of Intellect model (1) Howard Gardner
(c) Multiple Intelligence (1) L.L. Thurstone
(d) Emotional Intellizence theory (iv) J.P. Gulford

Choose the correct answer from the options given belows :
(1) (a)-(u). (b)-(v). (c)-(1). (d)-(1)
(2)  (a)-Q). (b)-(). (c)-(1). (d)-(v)
(3)  (a)-v), (b)-am), (0)-(). (d)-(iD)
4 (a)-dd). (b)-Q). (c)-(v). (d)-(11D)

Options :

53622817581. 1
53622817582.2
53622817583. 3
53622817584. 4

Question Number : 121 Question Id : 5362284512 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



gei 14 (s fagral) & m fou o 8, sfs g=h 1149 23 fagil & (demesi) =1 giE fn w2
gefl 101 51 118 Hqufera $ifao

HeAI 1 Tt 11
(a) FE-HFH fEgME 1) = e
(b) " & TrEE %1 gfdeE (i) EETE MER
(c) =g-faurmas wa (i) Ue.TA. 9=2H
(d) wTETE® UF (iv) .9 frersE
#4 feu o faweTi 0 8 98 3w =470

(1) (a)-(1i1), (b)-(1v), (e)-(11). (d)-(1)
(2) (a)-(1). (b)-(ii), (c)-(iil), (d)-(iv)
(3) (a)-(1v). (b)-(111). (e)-(1). (d)-(1D)

(4) (a)-(11). (b)-(1), (e)-(2v). (d)-(111)

Options :
53622817581. 1
53622817582.2

53622817583. 3
53622817584. 4 a a

Question Number : 122 Question Id : 5362284513 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



List I includes the name of Indian thinkers and List II mention books authored by them

List I List IT
Indian thinkers Name of Books
{a) Mahatma Gandhi (1) A life Devine
(b) Rabindranath Tagore (1) Bartaman Bharat
(c) Sri Aurobindo (111) The Home and the world
(dy Swam Vivekananda (iv) My Experiment with truth

Choose the correct answer from the options given below:

(1) (a)-(111), (b)-(av). (e)-(1). (d)-(1)
(2 (@-{. (b)-(v). (c)-(). (d)-(1iD)
(3)  (a)-(). (b)-(1). (c)-(1v), (d)-(11)

(4)  (a)-(iv). (b)-(iid). (¢)-(1), (d)-(ii)
Options :
53622817585. 1
53622817586. 2
53622817587. 3
53622817588. 4

Question Number : 122 Question Id : 5362284513 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Fefl 1 yredra fa=mani % 9@ & A0 = 09 39 gm0 fafen o 2

T 1 Tt 11
(urer famme) (g=e] % A7)
(a) HETEH] TE @) T wEE s
(by a=e 2R (i) a9
(¢) i sufe @i) fe #m we fg =e
(dy vl fadwH (v) e vepTies fag 7y
freAferfiga o | = 392 94

(1) (a)-(111). (b)-(av). (c)-(1). (d)-(1)
(2) (a)-(1). (b)-(v), (c)-(1), (d)-(1i1)
(3)  (a)-@). (b)-(id). (e)-(1v). (d)-({1)
(4) (a)-(v). (b)-(11d), (e)-(1). (d)-(11)

Options :
53622817585. 1

53622817586. 2
53622817587.3
53622817588. 4

Question Number : 123 Question Id : 5362284514 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



List IT gives twenty five metaphysical categories of sankhya and List IT provides their types

Last I
Types

(a) Cause only

{(b) Effect only

{c) Both cause and effect

(d) Neither cause nor effect

(1)

(111)

(1v)

Last IT
Metaphysical categories
Purusa

Mahat. Ahankara and five subtle
essences

Five sensory organs, Five motor

organz. Manas and five gross bodies

Prakriti

Choose the correct answer from the options given below:;

(1)
(2)
(3)

(4)
Options :

(a)-(1v). (b)-(i11). (¢)-(11). (d)-()
(a)-(11). (b)-(1). (¢)-(v). (d)-(112)
(a)-(iii). (b)-(iv). (e)-(). (d)-({1)
(a)-(1). (b)-(ii). (c)=(iii). (d)-(iv)

53622817589. 1
53622817590. 2
53622817591. 3
53622817592. 4

Question Number : 123 Question Id : 5362284514 Question Type: MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



=i 10 ° A ) oefia dead e Sfora] €108 2 sw g 101 399 Tn 2 -

A T o 11
() (ereardTaTedE Sfor )
(a) el FT (Td) @ g
(b) e gurd (Fae fafa) (i) wed, e 3h i ey derEd
() AT A wura Fi1 (wehta vd faerfa <m0) (iii) 9= sAfFT, 9= nfas s, w9y e O
(d) Ad FE A 9aE (3 wEfd 7 i) (iv) wHfd
e fow o foasmed @ & w7 370 94

(1) (a)-(w). (b)-(ii1). (c)-(11), (d)-(1)
(2  (2-@). (b)-Q). (0)-(v). (d)-(111)
(3)  (a)-(m), (b)-(v): (e)-G). (d)-(1)

4 (2)-Q). (b)-(1). (c)-(111). (d)-(v)
Options :
53622817589. 1

53622817590. 2
53622817591. 3
53622817592. 4

Question Number : 124 Question Id : 5362284515 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Which of the following are included under ICF model of classification and disabilities?
(A) Body function and structures

(B) Participation or involvement 1n all areas of hife

(C) Environmental factors

(D)  Policies framed for the disabled

(E) Funding from the government

Choose the correct answer from the options given below :

(1) (B). (C). (D)
(2) (A). (B). (C)
(3) (C). (D), (E)

(4) (A), (C), (E)
Options :
53622817593. 1
53622817594. 2
53622817595.3
53622817596. 4

Question Number : 124 Question Id : 5362284515 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



fegmmn =nfferor & w1 = vl % siefa frefates © 9 #@-5 mire e s 80
(A)  H T Ud HEA

(B)  SitEd & =i &l d wrfiedt @ wfas g

(C)  wafawiEm FHRw

(D)  feeamii & fere wmme wd fiferat

(E) ®@R 8 famamm

freferfea o | =& 390 =4 |

(1) (B). (C), (I
(2) (A). (B). (O)
(3) (C). (D), (E)

(4) (A). (C). (E)

Options :
53622817593. 1
53622817594. 2

53622817595. 3
53622817596. 4 a a

Question Number : 125 Question Id : 5362284516 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Identify the statements which indicate the needed actions for a change process of an
organization.

(A) The organization must go through an “Unfreezing”

(B) Anxiety one — fear of change should be decreased

(C)  Anxiety two — fear of not changing must be increased

(D) Adoption of any innovative procedure leading to trial

(E) Discussion based on the analysis of forces — restraing and driving
Choose the correct answer from the options given below:

(1) (A). (C) and (D)

(2) (B). (D) and (E)

(3) (C). (D) and (E)

(4) (A). (B) and (C)

Options :

53622817597. 1
53622817598. 2
53622817599. 3
53622817600. 4

Question Number : 125 Question Id : 5362284516 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Hieud F134 1 Ui ° SGeTE o S1Evas F11 i S FE a1l suH FE et
(A) TS T (AT A 9T |

(B)  Feerd =i wem weRE o e O i g s =nfEe )

(©)  Tr-szerra 6 fadia v 1 Foan o afg g s =i |

(D) T e ufgan =1 sroara san e afiao s a9

(E) =14 Ud =Ttk dell o (S9eieo] s ==

rpepferfiad 48 #3904 |

(1) (A). (C) and (D)
(2)  (B). (D) and (E)
(3)  (C). (D) and (E)

4) (A (B) and (C)

Options :
53622817597. 1
53622817598. 2

53622817599. 3
53622817600. 4 a a

Question Number : 126 Question Id : 5362284517 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Which of the following are proposed by Edward Deming for quality assurance
(A) Adopt new philosophy

(B) Cease dependence on inspection

(C) Coerce for poor performance

(D) Institute traimng on the job

(E) Drive out fear

Choose the correct answer from the options given below:

(1) (A). (B). (C) and (D)
(2)  (B).(C). (D) and (E)
(3) (&), (B). (D) and (E)
(4)  (A). (C). (D) and (E)

Options :

53622817601. 1
53622817602. 2
53622817603. 3
53622817604. 4

Question Number : 126 Question Id : 5362284517 Question/Type :IMCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
TorEl FTETER % fore ugard i 3 frefafiad 991 6 a1

(A) U 2 1 T A

(B) e w i wErE &
(C) T&7a HEAEA &1 915 &
(D) M & GrA T femn S
(E) ¥ gfFd
fr=ferfaa O | 981 39 =4 |

(1) (A). (B). (C) 1 (D)
(2) (B (C). (D) 51 (E)
(3)  (A). (B). (D) 31 (E)
(4) (A, (C). (D) 31 (E)



Options :

53622817601. 1
53622817602. 2
53622817603. 3
53622817604. 4

Question Number : 127 Question Id : 5362284518 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Identify the sequence in generating a grounded theory

(A) Coding and memoing

(B) Deciding about the needed sampling design and data collection
(C) Identification of the core variable leading to its saturation

(D) Categorization and comparison

(E) Theory verification and generalization emerging

Choose the correct answer from the options given below:

(1)  (A). (B). (D). (C). (E)
(2) (O (A). (D). (B). (E)
(3) (D). (A)AC) (B). (E)

(4)  (B). (A (D). (C). (E)
Options :
53622817605. 1
53622817606. 2
53622817607. 3
53622817608. 4

Question Number : 127 Question Id : 5362284518 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



AT fgTd % 994 o 38 Tafaa #1 |

(A)  FeetEd S e

(B)  Havds Garad 3t a1t duzon das foig forn s
(C) zaeh wafed o n yer=di =1 fFafza

(D) =fishon v geiq

(B) Tagid seam ua amr=iiso s
foerferfiae 8w 3w e |

(1) (A (B). (D). (C). (E)
(2)  (C). (A). (D). (B). (E)
(3) (D). (A). (C). (B). (E)
(4) (B (A). (D). (O). (E)
Options :
53622817605. 1

53622817606. 2
53622817607. 3

53622817608, 4 d
Question Number : 128 Question Id : 53622845|a aptlon Shuffling : No Is Question

Mandatory : No
Correct Marks : 2 Wrong Marks :



Human capital theory gives emphasis on ;
(A) Security of staff

(B) Staff motivation

(C) Investment on education

(D) Inservice education of the staff

(E) Staff recruitment

Choose the correct answer from the options given below:

1) (A). (B) and (E)
(2) (B). (C) and (E)
(3)  (B).(C) and (D)
(4) (C). (D) and (E)

Options :

53622817609. 1
53622817610. 2
53622817611.3
53622817612. 4

Question Number : 128 Question Id : 5362284519 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



uE gl g 4 Freforfiad O & fom w siw fen e 27
(A) == e

(B) ==l = stfoi

(C) Toren w faw

(D) =H=fedi =1 dan wd foen

(E) =i 1 adi

Frferfiam o9 a5 39 =4 |

(L (A, (B) 3l (E)

(2) (B (C) 3N (E)
(3)  (B), (C) 3N (D)

4 (0. (D) 31 (E)

Options :
53622817609. 1
53622817610. 2

53622817611. 3
53622817612. 4 a a

Question Number : 129 Question Id : 5362284520 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



While preparing a budget. which of the following points are considered to be mandatory?
{A) Revenue

(B) Objectives of the institution

(C) Expenditure

(D) Commumnity involvement

(E) Teachers salary

Choose the correct answer from the options given below:

(1) (A). (C) and (D)
(2) (A). (B) and (C)
(3) (B). (C) and (E)

(4) (C). (D) and (E)
Options :
53622817613. 1
53622817614. 2
53622817615.3
53622817616. 4

Question Number : 129 Question Id : 5362284520 Question/Type :IMCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



13 sote Fm e wa Frerfafaa § 8 #F -8 frgel o) sifrand o s 27
(A) T

(B) A F 3

(C) =M

(D) HYER & IITHel

(E) Toretsni =1 99

Fotfetfiaa 34 wdi za2 <4 |

(1) (A). (O) 3 (D)

(2 (A). B3 (C)

(3)  (B).(C) ¥ (E)
(49 (C). (D) 3 (E)

Options :
53622817613. 1
53622817614. 2

53622817615. 3
53622817616. 4 a a

Question Number : 130 Question Id : 5362284521 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Which of the following features explain the concept of dependent origination in Buddhist
Philosophy?

(A) Everything in this world i1s conditional and relative

(B) From the ultimate stand point there 1s no diffrence between “Sanasara and Nirvana”
(C) All appearances have real origination

(D) Appearances are not devoid of ultimate reality

(E) All appearances (dharmas) being relative have no real origination

Choose the correct answer from the options given below:

(1) (A). (B) and (C)
(2) (B). (C) and (D)
(3) (A). (B) and (E)
(4) (C). (D) and (E)

Options :

53622817617. 1
53622817618. 2
53622817619. 3
53622817620. 4

Question Number : 130 Question Id : 5362284521,Question Type : MCQ.Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



g 23iA 4 wefied wyeurs i1 sraawon 1 Fefated § 3 wE- fasmdnd o i )
(A) 38 H9R § Ha F@ HMTED S EIE 2 |

(B) e 5§ Haw 3 TEm’ F & e s A 2

(C) &fi arefi =) & Feafa aratas 2

(D) @refl w5 9 gratasa d fea 32 2

(E) @i amefi wy (end) |z 8 3901 F18 aratas 3eafa 48 2
foeaferfiaa | 4 = 37 =4 |

(1)  (A). (B) and (C)

(2)  (B). () and (D)

(3) (A, (B) and (E)

(4 (C). (D) and (E)

Options :

53622817617. 1
53622817618. 2
53622817619. 3

53622817620. 4
Question Number : 131 Question Id : 53622845a altlon Shuffling : No Is Question

Mandatory : No
Correct Marks : 2 Wrong Marks :



Given below are two statements : One 1s labelled as Assertion A and the other 1s labelled as

Reason R

Assertion (A) : Information systems support promotion of research. development and

innovation related growth of a country.

Reason (R) : Information 1s the basic input to the development

In the light of the above Statements. choose the most appropriate answer from the options

eiven below :

(1) Both (A) and (R) are correct and (R) 1s the correct explanation of (A)
(2) Both (A) and (R) are correct but (R) 1s not the correct explanation of (A)
(3 (A) 1= correct but (R) 18 not correct

(4) (A) 13 not correct but (R) 1s correct
Options :
53622817621. 1
53622817622.2
53622817623. 3
53622817624. 4

Question Number : 131 Question Id : 5362284522 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

9 g1 A fqu o # v w1 sAfsem (A) 3 gEL ) a6 (R) FaE T E
HAgFeE (A) fareft 2o 1 | worferal Iue 9y, fasm va FarEn | Haian gig @ @neE ueH
HAl 2 |

% (R) : fempmer & a1 v gfaand ffafe 2
Tdae FUAl & A § Tretea faswed § § waifas v 3w 9

(1)  (A) 31 (R) ZA1 T8 2 30 (R). (A) =1 T2 =478 2 |
(2) (A 3 (R) EH 88 & T (R). (A) i T = T8 2 |
(3)  (A)%Hdl 2 W (R) ¥&l 771 @ |

(4) (A=A TE 2 WA (R) HE R



Options :

53622817621. 1
53622817622. 2
53622817623.3
53622817624. 4

Question Number : 132 Question Id : 5362284523 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Given below are two statements : One is labelled as Assertion A and the other 1s labelled as

Reason R

Assertion (A):  Planning for instructions refers to the decisions made about organising.
implementing and evaluating instruction.

Reason (R) : Planning gives a senae of direction and through this a feel of confidence to

the teacher. It helps the teacher to become a reflective decision maker

about instruction.

In the light of the above Statements. choose the most appropriate answer from the options

given below :

(1) Both (A) and (R) are correct and (R) lsthﬁmrfmngpianﬁtlon of (A)
(2) Both (A) and (R) are correct but {Hi 'E'-nof'-thﬂ correct explanation of (4)
(3) {A) 18 correct but (R) is not correct

(4) (A) 1s not correct but (R) 1s correct

Options :

53622817625. 1
53622817626. 2
53622817627. 3
53622817628. 4

Question Number : 132 Question Id : 5362284523 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



I 21 fouome 2 2 uep 31 stfisem (A) 3T 208 1 7 (R) Fe1m 2 |

Afigra (A) : 3= TareE | sifaum siqevE &1 2Efen w5, FEii=d #4511 H5E 9o
Tt o foq wmu fvfa 2 )

@ (R) : Taersm faon <1 ome verm Fa @ i gaek wead 3 [ ) senla v wEgs w2 |
T8 e o1 srgaee o s g el Fofaerat s 8 ges fuerd 2 1

I9ad shell o SaTetTeR H FeAfed fased O 8 gaifas 3uga 3w =4

(1) (A) 3 (R) 2F 98 & 3R R), (A) 19 smen 2 |
(2) (A 3 R) GH H5 2 95 (R). (A) F wl sare w1 2 |
(3) (A) 5El 2 W (R) | AT 2|

@) (A A T 2 9 R HE 2
Options :
53622817625. 1
53622817626. 2

53622817627. 3
53622817628 4 a a

Question Number : 133 Question Id : 5362284524 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Given below are two statements : One is labelled as Assertion A and the other is labelled as

Reason R

Assertion (A):  Tests with larger number of items have higher rehability

Reaszon (R) : Each test item adds to test reliability

In the hight of the above Statements. choose the correct answer from the options given

below :

(1) Both (A) and (R) are correct and (R) 1s the correct explanation of (A)
(2) Both (A) and (R) are correct but (R) 1s not the correct explanation of (A)
(3) (A) 1s correct but (R) 1= not correct

(4) (A) 1s not correct but (R) 18 correct
Options :
53622817629. 1
53622817630. 2
53622817631. 3
53622817632. 4

Question Number : 133 Question Id : 5362284524 Question Type.: MCQ. Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

1 21 %A fauar 2 - e = s (A) 3 g F dd (R) FEITEE |

sifused (A) - o wliaqoni 1 s1ferss v 2 7, 396 favaa-aa iy ardi 2 )
% (R) : e g v 42 whEm ] favasTaa 9 g 2 |

I el o srrerre i it fasedl 0 & waffe sy w91

(1)  (A) 3R (R) 21 521 2 377 (R), (A) i 98 s 2 |
(2 (A) 3 R) TH & o R), (A) F g s=men 16 2|
(3) (Qud2wg R ESTHER)

(4)  (A)=E FF 2 (R) 96 7

Options :



53622817629. 1
53622817630. 2
53622817631.3
53622817632. 4

Question Number : 134 Question Id : 5362284525 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Given below are two statements : One 1z labelled as Assertion A and the other 1z labelled as

Reason B

Assertion (A) : Concurrent validity coefficients are generally hizher than predictive
vahidity coefficient

Reason (R) : This does not mean that the test with higher validity coefficient is more

suitable for a given purpose

In the light of the above Statements, choose the most appropriate answer from the options

g1ven bhelow :

(1) Both (A) and (R) are true and (R) 1s the correct explanation of (A)
(2) Both (A) and (R) are true but (R) is not the murrect.-explanation of (A)
(3) (A) 1s true but (R) 1= false

(4 (A) 1= false but (R) 1s true

Options :

53622817633. 1
53622817634. 2
53622817635. 3
53622817636. 4

Question Number : 134 Question Id : 5362284525 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



e 21 %A feu e &« osk  wfrsmes (A) o g F) @ (R) FE1 T2

AfgFaq (A) : FHE A1 07, TEl AT U o W95 @A 399 B A |

@ (R) : gael 319 72 A9 2 T = Quran qpres Aven wdhiemn e vad yaeE # fae sfos 39w
21

Fuaa el o A 4 Feiiea fawedl § | Faiiaes suge 39 94 ;

(1) (A) 3 (R) 2F ¥ & 31 (R), (A) F 4 savemn 2|
(2) (A #F (R) aH1 980 2 951 R), (A) Fl =2 = 7 2
(3) (AW 2w (R) T T 2 |

9 (A " AE 2w (R) w2

Options :

53622817633. 1
53622817634. 2
53622817635. 3
53622817636. 4

Question Number : 135 Question Id : 53622845a‘datlon Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks :



Given below are two statements : One 1s labelled as Assertion A and the other is labelled as

BReason R

Assertion (A):  The quality of reflection iz determined by the ability to match teaching

behaviour to the established codes

Reason (R) : In techmical approach to reflection propositional knowledge 1s reflected

upon and then applied to practice

In the lhight of the above Statements. choose the correct answer from the options given

below :

(1) Both (A) and (R) are true and (R) 1s the correct explanation of (A)
(2) Both (A) and (R) are true but (R) 1= not the correct explanation of (4)
(3) (A) 1s true but (R) 1s false

(4) (A) 1= false but (R) 1s true
Options :
53622817637. 1
53622817638.2
53622817639. 3
53622817640. 4

Question Number : 135 Question Id : 5362284526 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Fral g1 y= fou o E : us ) AfieeE (A) 3N gEL % dh (R) FE TR

ATFIT (A) feamel =1 Torgen e sxaEn = wenfua wiEaen @ e o g faiie e
2

% (R) : fomsies & fou aafihl 39w | srfsraATers 9 o faust e s 2 31 deavEm
34 srgEn 1 wn foha = 2|

I F9A1 *F AelF § e fawedi 1 9 maites w3 A

(1) (A3 (R)EH T & 31 R), (A) T B5F =T 2|
(2)  (A) 3 (R) 24 TE & WA (R). (A) F 6 =men 9 2
(3) (A HH 2 T (R) T B |

(4) (A) T & T (R) WET 2|

Options :

53622817637. 1
53622817638. 2
53622817639. 3

53622817640. 4
Question Number : 136 Question Id : 5362284sa amon Shuffling : No Is Question

Mandatory : No
Correct Marks : 2 Wrong Marks :



Given below are two statements :

Statement I : Scientific management theory of F.W. Tayvlor gives a mechanical

explanation of work and workers.

Statement II: Human relations, leisure and emotion are given prime importance by

F.W. Taylor to enhance productivity of an organization

In the light of the above Statements. choose the most appropriate answer from the options

given below :

(1) Both Statement I and Statement II are correct

(2) Both Statement I and Statement IT are incorrect

(3) Statement I i1s correct but Statement II 1s incorrect
(4) Statement I i1s incorrect but Statement IT is correct
Options :

53622817641. 1
53622817642. 2
53622817643.3
53622817644. 4

Question Number : 136 Question Id : 5362284527 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

1= 71 e feu T E

FYF (I):  UF, Teolg TR F1 A vEeA fagm e vd il & aifas swe g 2|

Fe4 (1) : Uk, T ol W34 =1 Iedreshal 1 gfg @0 A4 Fd WG Hedl, §Ed 30 9rEas #
e HEed fgmn 2|

I FUH1 % AT § Frenfwa fawedi 8 | uE I o

(1) @y 130 11 2F |98 21
(2) YA 1 30 11 e |8 980 2
(3)  FYF 1T 2, fhg oA 11 58 781 2

(4)  ®UA IHE 7 2, Thq F99 L84 2 |



Options :

53622817641. 1
53622817642. 2
53622817643. 3
53622817644. 4

Question Number : 137 Question Id : 5362284528 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Given below are two statements :

StatementI: To 1mprove preservice teacher education programme the aspirants for

teaching profession be screened for their aptitude in teaching

Statement II: Faculty improvement programme for teachers should be regularized to

1mprove preservice teacher education.

In the light of the above Statements. choose the correct answer from the options given

below :

(1) Both Statement I and Statement II aretrus
(2) Both Statement I and Statement IT are false
(3) Statement I is correct but StatementIT is.false

(4) Statement I is incorrect but Statement TLis true,

Options :

53622817645. 1
53622817646. 2
53622817647. 3
53622817648. 4

Question Number : 137 Question Id : 5362284528 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



11 21 %o feuamu 2

F44 (D) :  HaA-7d e (e F1hen U qun % & fon Sam sgema & st £ e 6 3=
sifimf = foro sfa &1 s )

F4 (ID) :  Ha-d ST @ian § G0 04 & o, sieanrl o form a#a g #rFn 1 Hafga a5
SHE1 =R |

Fugad F9H % el 4 Feiwd fawedi § 4 3ogad 39 o

(1) FFEIATIEA T2
(2) FeR [HARIIEH | T8 2 |
(3) &9 15 %, T o TI7etd 2 |

(4 A 17rer 2 T ed 11 212 |

Options :
53622817645. 1
53622817646. 2

53622817647. 3
53622817648. 4 a a

Question Number : 138 Question Id : 5362284529 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Given below are two statements :

Statement I : As the alpha level becomes more stringent — goes from 0.05 to 0.01 the power

of a statistical test decreases

Statement IT: A directional hypothesis leads to more power than a non — directional

hypothesis

In the light of the above Statements. choose the correct answer from the options given
below :

(1) Both Statement I and Statement II are true

(2 Both Statement I and Statement IT are false

(3) Statement I 1s correct but Statement II 1s false

(4) Statement I 1s incorrect but Statement IT 1s true
Options :
53622817649. 1
53622817650. 2
53622817651. 3
53622817652. 4

Question Number : 138 Question Id : 5362284529 Question Type': MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

FUF (I): -9 HweH T Afusw 7 Afus wIr AYTE 05 H .01 Fal 2, wiferhl whgw $i wfEd
Y =T T 7 |
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Options :



53622817649. 1
53622817650. 2
53622817651. 3
53622817652. 4

Question Number : 139 Question Id : 5362284530 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Given below are two statements :
Statement I : In Freud's postulation

Id 1s the original system of personality and 1s the reservoir of psychic energy.
It uses the mechanism of pleasure principle and is a tension reduction

mechanism

Statement II: All defence mechanisms have two gqualities, They deny. distort or falsify

reality and thev operate unconsciously

In the light of the above Statements. choose the correct answer from the options given

below :
(1) Both Statement I and Statement II are true
(2) Both Statement I and Statement IT are false

(3) Statement I is correct but Statement 1l isfalse

(4) Statement I is incorrect but Statement II is'true

Options :

53622817653. 1
53622817654. 2
53622817655. 3
53622817656. 4

Question Number : 139 Question Id : 5362284530 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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Options :

53622817653. 1
53622817654. 2
53622817655. 3
53622817656. 4

Question Number : 140 Question Id : 5362284531 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Given below are two statements :

Statement I: In addition to the fact that growth is continuous, it can be relatively rapid in
certain stages of development

Statement II: The procesz of development follows a pattern in terms of physieal
development — Cephalo — Caudal sequence while in the case of mental
development 1t shows an increase in the capacity of concrete level thinking
to abstract thinking

In the hght of the above Statements. choose the correct answer from the options given

below :

(1) Both Statement I and Statement II are true
(2) Both Statement I and Statement IT are false
(3) Statement T is correct but Statement 1T is false

(4) Statement I 1s incorrect but Statement II 1s true



Options :

53622817657. 1
53622817658. 2
53622817659. 3
53622817660. 4

Question Number : 140 Question Id : 5362284531 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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53622817657 1
53622817658 2
53622817659. 3
53622817660. 4

Sub-Section Number : 2
Sub-Section Id : 536228178
Question Shuffling Allowed : Yes

Question Id : 5362284532 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No

Question Numbers : (141 to 145)
Question Label : Comprehension



Paszage — 1
Instruction : Pleasze read the following passage and answer the guestions 91 — 95,

Communication 1= much more difficult when there 1z a difference of opinion between
emplovee and supervisor. or between any colleague at work. than when they agree. Laura
Carrol has outlined a series of steps for emplovees to use when they wish to communicate a
problem to an emplover or coworker or to get a negative situation resolved. The central 1dea
15 the 1dea of creating a thought process that fosters an understanding of what the problem 1z
and how 1t can best be resolved. She suggests that the emplovee see the problem from the
other person's point of view and make certain that the “facts” of the situation are true from
both view ponts. If this can be done, then there exists a level. non judgemental. playving field
from which solutions can arise without hurt feehngs and misgivings. This 138 what the
communication process 1g all about : respect for vourself, vour 1deas, and those of the other
person.

Under the stress of differences. however, it 1s all too eazy for empathy to dizappear and
Jjudgment to take the center stage. Any difficult conversation 1z really three conversations in
one, all operating at the same time. The first 15 the “What happened?” conversation in which
vou describe "My storv” and the other person defends theirs. instead of exploring each other's
stories and acknowledgming what each partv contributed to the 1zsue. Second 1s the “feelings”
conversation — which 1s often regarded as unprofessional and may be discouraged in the work
place. However. emotions are always present. theyv are normal. and they are data that can
more fully inform the nature of the conflict. Finally. there 1z the identity” conversation. in
which there involved may feel that some of their identity 1= threatened. Lieaders with social
competence can navigate these three conversations and transformythem into one learning
conversation at a time,

Sub questions

Question Number : 141 Question Id : 5362284533:Question Type : MEQuOption Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Communication becomes difficult in which of the following situations?
(A) Difference of opinion between emplovee and employer

(B) Difference in the nature of work allotted and done

(C) Difference of opinion between emplovees at work

(D)  Dafference of treatment given to employees

(E) Difference of language spoken by employees
Choose the most appropriate answer from the options given below :

(1) (A), (B). (D) only
(2) (A). (B). (C) only
(3) (A). (C), (E) only

(4) (A). (C). (D) only

Options :

53622817661. 1
53622817662. 2
53622817663. 3
53622817664. 4

Question Number : 142 Question Id : 5362284534 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of the following steps are needed to communicate 1n a negative situation?
(A) Create a thought process to foster understanding

(B) Enable people to see the problem from other’s perspective

(C) Speak loudly and clearly

(D) Create a non —judgemental playing field for both parties

(E) Understand the language of the receiver

Choose the most appropriate answer from the options given below :

(1) (A). (C). (E) only

(2)  (A). (D). (E) only

(3) (A). (B), (C) only
(4) (A). (B). (D) only



Options :

53622817665. 1
53622817666. 2
53622817667. 3
53622817668. 4

Question Number : 143 Question Id : 5362284535 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of the following statements describe the meaning of communication?

(1) Respect for culture. community and nation
(2) Respect for self. one’s 1deas, and others’ ideas
(3 Respect for family, self. and others’' ideas
(4) Communication is a two way process

Options :

53622817669. 1

53622817670. 2

53622817671. 3
53622817672. 4

Question Number : 144 Question Id : 5362284536 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Under which of the following circumstances empathy 1s ¥@placed by judgement?

(1) In case of same opinion between mnﬂerfgnlij-raceiver

(2) In case of large number of people to'be communicated

(3) In case of in-formal communication
(4) In case of difference of opinion between sender and receiver
Options :

53622817673. 1
53622817674. 2
53622817675. 3
53622817676. 4

Question Number : 145 Question Id : 5362284537 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which competency 1s needed in a leader to navigate a difficult conversational situation to a
meaningful learning conversation?

(1) Social intelligence (2) Emotional intelligence
(3) Multiple language (4) Manipulative skills
Options :

53622817677. 1
53622817678. 2



53622817679. 3
53622817680. 4

Question Id : 5362284532 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No

Question Numbers : (141 to 145)
Question Label : Comprehension
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Sub questions

Question Number : 141 Question Id : 5362284533 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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Options :
53622817661. 1

53622817662. 2
53622817663. 3
53622817664. 4

Question Number : 142 Question Id : 5362284534 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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Options :
53622817665. 1
53622817666. 2
53622817667. 3
53622817668. 4

Question Number : 143 Question Id : 5362284535 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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Options :

53622817669. 1
53622817670. 2
53622817671. 3
53622817672. 4

Question Number : 144 Question Id : 5362284536 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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53622817673. 1
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Question Number : 145 Question Id : 5362284537 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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53622817677. 1
53622817678. 2
53622817679. 3
53622817680. 4

Sub-Section Number : 3
Sub-Section Id : 536228179
Question Shuffling Allowed : Yes

Question Id : 5362284538 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No

Question Numbers : (146 to 150)
Question Label : Comprehension



Passage — I1
Instruction : Pleasze read the following passage and answer the questions 96 —100.

Organizational change 1s a complex and continuous process. having several sequential
aspects. In the process of planned change. several actors are involved — the corporate
management. the external consultant(s). the counterpart. the implementation team. the
chief implementer. and the task forces. Every actor performs specific functions.

The investment of time and energy 1n the process work 1n the beginning helps to smoothen
progrezss on task achievement later. The implementation of change 1s itself a complex
process and requires a great deal of attention. Planning 1s followed by action, leading to the
mnstitutionalization and stabilization of change. The monitoring of progress 1s necessary and

forms a small feedback loop 1n correcting action.

There 1= always resistance to any change being introduced. Sometimes resistance plays a
positive role in warning the organization of possible consequences. Generally. resistance is
caused by various kinds of fear and lack of attention to the actual process. Effective
strategies for coping with resistance can be achieved by understanding and deahing with the

sources of resistance.

Sub questions

Question Number : 146 Question Id : 5362284539 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

In the process of planned change. who plays an nnportant role”
(4) Corporate Management

(B) Consumers

(C) External consultant

(D) Implementation team

(E) Chief implementer

Choose the correct answer from the options given below :

(1) (B). (C). (D) and (E) (2) (A). (B). (D) and (E)
(3) (A). (C). (D) and (E) 4) (A (B). (C)and (D)
Options :

53622817681. 1
53622817682. 2
53622817683. 3
53622817684. 4

Question Number : 147 Question Id : 5362284540 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No



Correct Marks : 2 Wrong Marks : 0

Change can be stabilized 1n an organization by

(1) Systematic planning and implementation

(2) Providing regular feedback

(3) Closely monitoring the change process

(4) Providing financial support to implement change
Options :

53622817685. 1
53622817686. 2
53622817687. 3
53622817688. 4

Question Number : 148 Question Id : 5362284541 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

For an organizationl change to be successful, what 15 essential?

(1) Motivation of emplovee (2) Decentralization of power
(3) Monitoring of progress made (4) Support of the society
Options :

53622817689. 1
53622817690. 2
53622817691. 3
53622817692. 4

Question Number : 149 Question Id : 5362284542 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Organizational change 1s resisted because of

(1) Fear of different kinds and uncertainty

(2) No financial benefit to employvees

(3) Social pressure

(4) Change 1n international scenario
Options :

53622817693. 1
53622817694. 2
53622817695. 3
53622817696. 4

Question Number : 150 Question Id : 5362284543 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



How can an organization cope with resistance to change?

(1) Adhere to strict rules of the organization
(2) Motivate employees to work

(3) Convey to the employees that 1t 1s needed for organizational development
(4) Work — strategy after understanding the source of resistance
Options :

53622817697. 1
53622817698. 2
53622817699. 3
53622817700. 4

Question Id : 5362284538 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No

Question Numbers : (146 to 150)
Question Label : Comprehension
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Sub questions

Question Number : 146 Question Id : 5362284539 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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Options :

53622817681. 1
53622817682. 2
53622817683. 3
53622817684. 4

Question Number : 147 Question Id : 5362284540 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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Options :
53622817685. 1
53622817686. 2
53622817687. 3
53622817688. 4

Question Number : 148 Question Id : 5362284541 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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53622817690. 2
53622817691. 3
53622817692. 4

Question Number : 149 Question Id : 5362284542 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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Options :

53622817693. 1

53622817694. 2

53622817695. 3
53622817696. 4

Question Number : 150 Question Id : 5362284543 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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Options :
53622817697. 1
53622817698. 2

53622817699. 3
53622817700. 4



